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HhS4 HH HEE (mg/L) FEEE (mg/L)
N % 0.23~0. 27 0.1
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EES 19 10
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RIREZZ2 ) VIUFRAERR (EFR21F1A~12A)

1 KEBEEZAR)VITHREHFR (p2~p23)
(1) BB - BKE - 7—11. 12, 13, 14, 17, 18, 19, 20, 21. 22. 32
(2) FED#TFK . 7—6. 9. 10, 23. 24. 31
(3) HWKEEREHAK 73
(4) EKENMTK : 7—8, 7—25. 26, 27, 28, 29, 25-2

2 BHERRJEEMEE=42YUTREHER (p24)
3 RKREREYEET=42Y)UIJREHKR (p24)
4 BERBE=SVIHAERR (p25)
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(1) RZAENI - BKE

NO EH BfT REE%E

REEARH H21.2. 4 H21.3.4 | H21.5.20 H21.12.2

Kz Eh B Eh Ehn

IREREEZI 11:12 12:00 10:07 9:45

&8 O -

S % A I X T BrE | Bxe

BRE E4 = 30 = 30 = 30 = 30

18 HEE wmEt WER RER

BR ER ER ER ER

[HE.EPN mg/Q 0.01 LUTF - - - - - -
217> mg/Q T — — — — — —

3 [#n mg/Q 0.01 LUTF < 0.001 — < 0.001 < 0.001 < 0.001 < 0.001
4 At mg/Q 0.01 LUF < 0.001 — < 0.001 - <0.001 <0.001
5 [#aKER mg/Q ] 0.0005 LIF - - - - - -

6 |"RUIEILEZ = =JL (PCB) mg/Q T - — - - — —
1|(CHrooray mg/Q 0.02 LUF < 0.001 — < 0.001 < < 0.001 <0.001 < 0.001
8 |migbikE mg/Q 0.002 UTF — — < 0.0001 < < 0.0001 | <0.0001 | <0.0001
9(1,2-YyppxTay mg/Q 0.004 LT < 0.0001 — < 0.0001 < < 0.0001 | <0.0001 | <0.0001
101,1-so0nxFLy mg/Q 0.02 LIF < 0.001 — < 0.001 < < 0.001 < 0.001 < 0.001
11|>x-1,2-C450p0xFLY mg/Q 0.04 LI'F < 0.001 — < 0.001 < < 0.001 < 0.001 <0.001
12{1,1,1-~ysopx4 > mg/Q 1 UTF — — < 0.0005 < < 0.0005 | <0.0005 | <0.0005
1311,1,2-~) Y B0ETR Y mg/Q 0.006 LT - — < 0.0001 < < 0.0001 | <0.0001 | <0.0001
14|r)o00TFLY mg/Q 0.03 LUTF - — < 0.001 < < 0.001 < 0.001 < 0.001
15|17 S 0QTFLY mg/Q 0.01 LUF < 0.0005 — < 0.0005 < < 0.0005 | <0.0005 | <0.0005
16{1,3-CoyooJoRy mg/Q 0.002 UTF — — < 0.0001 < < 0.0001 | <0.0001 | <0.0001
17|y mg/Q 0.01 LUF < 0.001 — < 0.001 < < 0.001 < 0.001 < 0.001
18[zL > mg/Q 0.01 LUTF - — < 0.001 < < 0.001 < 0.001 < 0.001
19 THEAMEER mg/Q 10 LIF — — 0.75 0.72 <0.02 0.75

HEHEEREER mg/Q — — 0.010 0.032 0. 005 0.032

20| 5 o%& mg/Q 0.8 LI'F - — < 0.15 < 0.15 <0.15 <0.15
201{IF5%F mg/Q 1 UTF < 0.02 < 0.02 < 0.02 < 0.02 <0.02 <0.02
AR % pg-TEQ/¢ 1 UTF - — 0.043 0.042 0.042 0.043
B|TFILREY mg/Q - - - — < 0.0001 | <0.0001 | <0.0001
24| LTy mg/Q - - — - 0. 001 < 0.001 <0.001 < 0.001
2B|1¥FLY mg/Q - - — — 0.001 < 0.001 < 0.001 < 0.001
26| p H - 6.3 6.3 6.9 6.4 6.8 6.3 6.9
27|BOD mg/Q - — — 2.1 4.9 1.4 1.4 4.9
28|CcOD mg/Q - - — 5.2 1.5 3.2 3.2 1.5
29|S s mg/Q - - — 8 11 5 5 11
N|EEFR mg/Q - - — 1.5 1.9 1.6 1.4 1.9
N|2YA mg/Q - — — 0.041 0.097 0.020 0.02 0.097
32 (1B A > mg/Q - 12 11 11 1.6 10 1.6 12

B [EXRGEE £S/cm - 140 140 130 130 150 130 150
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o @ et 3 KED
NO i B By IREEEE HORE
(BREK%)
HEEAR W7.520 ] H21.85 | A21.10.7 | H21.12.2
Kz Ehn £Y £Y £Y
EIEZ 852 9:19 9:04 9:26
2l °C 18.3 232 7.6 6.5 - _
KR °c 0.9 14.8 2.5 6.0 BME | RAME
BEE B = 30 = 30 = 30 > 30
=R i) Eis) R Fids]
25 |R ] | |E
T|hFEoL me/8 0.01 BT = = = = = =
2lv7y mg/9 ENET — — — — — —
3|8 me /9 0.01 BT - < 0.001 - - <0.001 | <0.001
NS me/8 0.01 BT - < 0.001 - - <0.001 | <0.001
5 |#7kER mg/2 | 0.0005 LIF - = = = = =
6 [RyiEHET =)L (PCB) mg/9 TR — — — — — —
APZEEE Y me/8 0.02 BT - < 0.001 - - <0.001 | <0.001
S me/% | 0.002 LT - < 0.0001 - - <0.0001 | <0.0001
9[l.o-chaAzay mg/% | 0.004 LT - < 0.0001 - - <0.0001 | <0.0001
0.1~/ o00TFLY me/9 0.02 LIF - < 0.001 - - <0.001 | <0.001
M[ox12osanTF0s me/8 0.04 LT - < 0.001 - - <0.001 | <0.001
12[1.1.1-ryso0x 8y me/9 1 T - < 0.0005 - - <0.0005 | <0.0005
HIEFAYPEEEE D, mg/% | 0.006 LT - < 0.0001 - - <0.0001 | <0.0001
NIYEEEEE D, me/9 0.03 LT - < 0.001 - - <0.001 | <0.001
5|7 F5 2 00TF Lo me/8 0.01 BT - < 0.0005 - - <0.0005 | <0.0005
16[1.3->sn0J0~> me/% | 0.002 LT - < 0.0001 - - <0.0001 | <0.0001
D me/8 0.01 BT - < 0.001 - - <0.001 | <0.001
18z me/9 0.01 LIF - < 0.001 - - <0.001 | <0.001
M ER mg/Q . — 1.3 — — 1.3 1.3
NS me/9 10 2F - < 0.005 - - <0.005 | <0.006
0[5-% me/8 0.8 BT — < 0.15 - - <0.15_| <0.15
2[E5% me/9 1 T - < 0.0 - - <002 | <002
AEEEES pe-TEQ/2 T LT — 0.060 - - 0.060 0.060
BlIFLA LY ) = - < 0.0001 - - <0.0001 | <0.0001
e me/8 - - < 0.001 - - <0.001 | <0.001
BlET L ) = - < 0.001 - - <0.001 | <0.001
26| p H = 7.4 7.4 7.5 7.5 7.4 7.5
27|BoD me/8 = - <05 = - <05 <0.5
28|CoD /8 = - 42 - - 4.2 42
2[ss me/9 = - 13 - - 13 13
B me/8 - — 15 - - 15 15
32y A me/9 = - 0.015 - - 0.015 0.015
32 [l ILA A~ me/8 - 15 13 27 19 13 27
3| BEafcEE 1£S/cm = 110 110 180 140 110 180




7—13

" = KE@
NO i) B B RISHE K -
HEEAD W7 1.7 | W21.2.4 | 2134 [ R21.5.20] W21 7.1 | A21. 85 | A21.10.7 | 721, 12.2
Kz £Y Eh En B £Y £Y £Y Ei
R 10:14 10:51 12:19 10:07 9:48 9:20 9:20 9:45
2l °c 0.5 138 3.9 20.8 19.2 200 14.7 7.8 - -
KB °c 15 41 5.0 41 15.2 13.8 15.0 7.7 BME | BAE
BRE B > 30 = 30 > 30 = 30 > 30 > 30 > 30 = 30
=RiE] WIRE ) Eis) i) Eis) wEe WEe e
25 ] |R ] | |E | |E |
T|hFEoL me/0 0.01 BF]_ — - - - - - - = = =
2|1v7y mg/Q N — — — — — — — — — —
38 me/0 0.00 LIF| - < 0,001 = <0001 |< 0001 <000l J<o0001 |<o0001 |<o0.001 [<0o00i
S mg/0 0.00 LF| - < 0,001 - < 0.001 |< 0000 <000l J<o0001 J<000 |<o0.001 [<0.00i
5 [#7K3R mg/8 | 0.0005 UF| — = = = = = = = = =
6 R EILE 7 = =)L (PCB) me/8 TR = = = = = = = = = =
AR mg/0 0.02 LIF| - < 0,001 - < 0.001 |< 0001 <0001 J<o0001 |<o0o001 <0001 [<0.00i
T mg/0 | 0.002 LIF| — - < 0. 0001 - < 0.0001 | < 0.0001 | < 0.0001 ] < 0.0007 | < 0.0001
IR, me/8 | 0.004 UF| — < 0. 0001 - < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001
0, 1-o/00TF LY me /2 0.02 LF| - < 0.001 - < 0.001 | <0000 |< 0001 J< 0001 J<0001 |<0.001 [<0.00i
Moz 12950027 0> me /2 0.04 LF| = < 0,001 - < 0.001 |< 0000 <000l J<o0001 J<000 <0001 [<000i
NN YPEEELD; me /2 T UF] = — - < 0.0005 - < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005
1311, -ryso0xsy me/8 | 0.006 UF| — - - < 0. 0001 - < 0.0001 | < 0.0001 < 0.0001 | < 0.0001 | < 0.0001
NIYEEEES D, me /2 0.03 LF| - - - < 0.001 - < 0.001 | <0001 |<0001 |<0001 |<o0001
5|7 FSo00TF Lo me/0 0.00 LF| - < 0. 0005 - < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005
16[1.3>on0J0~> mg/t | 0.002 UF|  — — = < 0. 0001 - < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001
T[~obt> me/0 0.00 LF| - < 0,001 - < 0.001 |< 0001 <0001 J<o0001 J<000 |<o0.001 [<0o00i
18|zl me /2 0.0l LF| - — - < 0.001 - < 0.001 | <0001 |<0001 J<o0001 |<o0.001
o [EEEER me/0 10 B — - - 13 - 12 1.0 16 10 16
MR me/0 - - - 0.008 - 0.009 0.006 0.005 0.005 | < 0.009
0[5 -% me/Q 0.8 IF| - — - <015 - <015 |<015 |<015 J<o015 [<o0.15
N|E>% me/0 TLUF|< 002 |<002 [<002 <002 |<002 [<o002 J<o002 [<002 [<002 [<002
R|FAAF R pe-TEQ/Q TR — — - 0.042 - 0.042 0.042 0.042 0.042 0.042
BTFLA B me/0 - — — — — — < 0. 0001 - < 0.0001 | < 0.0001 | < 0.0001
IS me/0 = — — - - - < 0,001 - < 0.001 | < 0.001 |< 0.001
BlEILY me/0 - — — — = — < 0.001 - < 0.001 | <0001 |< 0001
26| o H = 6.5 7.0 71 71 7.2 7.0 7.2 7.1 6.5 7.2
27|BOD me/2 = - — — <05 — <05 1.6 <05 <05 16
28|CoD me/9 = - - - 2.3 - 2.5 17 18 17 2.5
29[ss me /2 = - - - 2 - 3 1 2 1 3
N[e=% me/0 = — - - 17 - 138 16 2.3 16 2.3
3|2V A me/0 = - - - < 0.005 - 0.007 | < 0.0056 [< 0005 |< 0.005 0.007
HRE D mg/0 = 7 9.0 9.6 9.8 9.2 8.4 9.2 9.1 8.4 12
3| BREEE 1S/cm - 150 140 130 140 140 140 160 150 130 160
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" = KE®

N0 " A R RREER oK - AR
(& 1k )

BEEAR RN AN AR LAY EARAR EAEEE EARIEE AR
Kz £Y B En E £Y =) £Y Ei
IR 9.5 10:30 | 12:3% 9.35 934 8.56 856 9.25
¥ °C 8 .5 39 201 19.9 27,2 3.8 78 -
kiR °C 10.5 17,0 1 17,0 7.3 10.0 7.0 10.7 ®E | BXE
FEE = S eI |= 30 =30 =30 =30 =30 =30 =30
=X fas) =) fis) i) fis) =) fas) =)
xS EE me e 0 e we e we
TSN o S = = = = = = = = =
7o7y ne/t | A = = = = = = = = = =
IED mg/0 | 0.01 BIF] = [<0.000 —— < o007 [< 0007 [<o000 [<o00 [<o00r [< o007 <000
4 iE mg/s | 0.01 L F| = [< 0.00i - 0001 0,001 0002 | 0001 [< 0001 <0001 <0002
5 [k mg/8 J0.0006 LF| = — = = = — = — = =
6 |RUBIEE 7= =/ (PCB) | me/2 R = = = - - — — — — —
TSonoiss mg/0 | 0.02 uF| = = — < 0000 — <0001 [<0007 J<000i [<o00i [<0.00]
A ERER ng/8 | 0.002 U F|  — - —[< 00001 — < 0.0007 [ < 00001 | < 0.0001 | < 0.0007 [< 0.0001
9[l.2->/naTAY e/t | 0004 LF| = - — < 0.0001 — < 0.0001 [ < 0.0001 | < 0.0001 | < 0 0007 [< 0.0001
0], 1-S/0RTFLY e/t | 002 L F| = = — < 0.001 — <0001 [<000 J<000 <000 [<0.00i
N[SZ12SoaRzsLy e/t | 004 BF| = - — < 0.001 — <0001 [< 0001 J<o000 <000 [<0.00
2[1.1-FrJ 5 00T5 > mg/0 T = — < 0.0005 — < 0.0005 [ < 0.0005 | < 0.0005 | < 0.0005 [ < 0.0005
BL12-Fys0nTs> me/0 | 0006 B F| = - — < 0.0001 — 1< 0.0001 [ < 0.0001 | < 0.0001 |< 00001 [< 0.0001
NIYCEEEE TP, me/0 | 0.03 L F] = = — < 0.001 — <0001 [< 000 J<000 <000 [<0.00i
5|7 FS/OaTFLY mg/0 | 0.0l U F| = = — < 0 0005 — 1< 0.0005 [ < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005
HIESZEEEEED me/0 | 0.002 L F] = = — < 0.0001 — < 0.0001 [ < 0.0001 < 0.0001 | < 0 0001 [< 0.0001
TP mg/0 | 0.0l U F| = = — < 0.00i — <0001 [<0001 J<000 <000 [<0.00
BlEL> mg/8 | 0.0l BF| = — —[< 000 —— < 000r [<0001 [<000 [<000T [<000]
1o [BEEEE R mg/9 10 o — = = 2.0 — 23 19 21 19 23
MErrEEs ng/0 — - —— <005 —— <0005 [<005% [<0006 [<0006 [<0005
0[5k mg/0 08 OF|  — = — <015 — <015 [<o015 J<oi5 <015 [<o0i5
AE>% mg/2 T BT |[< 002 703 002 0.03 02 (<002 002 10 <o 003
A EEESIE pe-TEQ/2 D = — 0042 — 0042 | 00z | 00az | 004z | 00&2
BIFILR T mg/0 . — — — — ——[< 00001 — 1< 0.0007 | < 00007 [ <0 0007
[ FLTY mg/0 = = — = = —— 1Xow —— 1< 0001 [<0001 [<000
BESLY mg/0 . — — — - —— <o —— <0000 [<0000 [0
26]p 1 = 70 50 70 58 50 68 58 70 68 7
27[B0D nz/9 . — — <05 = 11 12 05 <05 17
28[coD ng/0 = = — —— <05 = 08 08 08 <05 08
29[ss ng/0 . — — 1< 1< & & & [
IEEER ng/0 = = — = 7 = 73 71 771X 21 73
312 YA ng/0 . — — — 0071 — 0016 | 009 | 0019 [ o006 [ 0oz
AR ng/0 = 57 57 56 53 55 50 54 53 50 57
BESLEE 4 S/cn - 300 290 290 300 300 320 340 330 290 340




7—=17

No 8 B | mms BASNT R

REFAH H21.1.7 H21.2.4 H21.3.4 | H21.4.22 | H21.5.20 | H21.6.3 H21.7.1 H21.8.5 H21.9.2 | H21.10.7 | H21.10.7 | H21.11.4 | H21.12.2

3 2y = ah | U | ®mn | =y | ®y | ®y | wn | ®u | ®y | ®y | =V

FEEREEZ 9:35 — 9:36 10:23 9:16 9:29 9:21 9:30 9:26 9:19 9:19 10:14 9:55

il °C 1.7 - -0.2 15.8 20.2 23.4 19.7 20.0 25.5 15.0 15.0 9.4 7.2 = =

KB °c 6.8 — 1.5 13.7 15.0 14.2 14.2 13.1 14.4 12.7 12.7 10.9 9.8 B/IME BKfE
BRE E4 = 30 - = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30

18 w6 — | =& [ mue | ®e | ®me | ®me | we | w& | ®me | me | ®me | =6

a5 me — [ w2 [ me | me | mm | me | mm | we | wmm | mm | mm | m=

RETSEIA e/t | 001 ] - = = = = = = = = = = = = =
27> mg/0 | A = = = = = = = = = = = = = =

3 |8n mg/Q 0.01 LLF] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 <0.001 ]<0.001 | <0.001
4 |BtR mg/4 0.01 LLF) < 0.001 < 0.001 0.003 < 0.001 < 0.001 < 0.001 0. 001 < _0.001 < _0.001 < _0.001 < 0.001 < 0.001 | <0.001 0.003
5 [k mg/2_|0.0005 LIF| _ — = = = = = = = = = = = = =

6 [RUBIEETIz=)L PB) | me/s | 7@ = = = = = = = = = = = = = -
AP A=1=E¥ ¥ mg/4 0.02 LI'F - — - < 0.001 - < 0.001 < 0.001 — < _0.001 < _0.001 — <0.001 J<0.001 J<0.001
8 |migbikE mg/ 4 0.002 LL'F - - - < 0.0001 - - <_0.0001 - < 0.0001 J < 0.0001 — < 0.0001 ] <0.0001 J <0.0001
9(1.2-vynnxTsy mg/Q 0.004 LLI'F - — - < 0.0001 - < 0.0001 | < 0.0001 — < _0.0001 J < 0.0001 — < 0.0001 ] <0.0001 J <0.0001
opi1->yoaxFLy mg/Q 0.02 LI'F - - - < 0.001 — < 0.001 < 0.001 — < 0.001 < 0.001 — <0.001 ]<0.001 | <0.001
11{¥R-1,2-ynaxFLY mg/Q 0.04 LI'F - — - < 0.001 - < 0.001 < 0.001 — < _0.001 < _0.001 — <0.001 ]<0.001 J<0.001
121,1,1-+tYyo0x 32> mg/Q 1 UTF - - - < 0.0005 - - < 0.0005 — < 0.0005 | < 0.0005 — < 0.0005 ] <0.0005 | <0.0005
13[1,1.2-kYy00x3 > mg/Q 0.006 LLF - — - < 0.0001 - — <_0.0001 — < _0.0001 J < 0.0001 — < 0.0001 J <0.0001 J <0.0001
4|k OO0 FLY mg/Q 0.03 LI'F - - - < 0.001 - - < 0.001 - < 0.001 < 0.001 — <0.001 ]<0.001 | <0.001
1573200 FLY mg/Q 0.01 LI'F — — — <_0.0005 — < 0.0005 J < 0.0005 — < _0.0005 ] < 0.0005 — < 0.0005 ] < 0.0005 | <0.0005
16]1,3-/nnJoRy mg/4 0.002 LL'F - - - < 0.0001 - < 0.0001 — < 0.0001 J < 0.0001 — < 0.0001 ] <0.0001 J <0.0001
17"y mg/4 0.01 LI'F - P — — < 0.001 - < 0.001 < 0.001 — < _0.001 < _0.001 — <0.001 J<0.001 J<0.001
18[L > mg/Q 0.01 LUF - ! - - < 0.001 - - < 0.001 - < 0.001 < 0.001 — <0.001 ]<0.001 | <0.001
19 TR ER mg/4 10 UF — — — 1.9 - — 2.1 — 1.8 1.8 — 2.5 1.8 2.5

EEMEER mg/Q - - - <_0.005 - - <_0.005 - < 0.005 < 0.005 — <0.005 ]<0.005 | <0.005

20[5o% mg/4 0.8 LI'F - — — < 0.15 - — < 0.15 — < 0.15 < 0.15 — <0.15 <0.15 <0.15
AlESES mg/Q 1 UF 0.1 0.16 - 0.16 - 0.14 0.08 - 0.13 0.13 — 0.1 0.08 0.16
R\ FAAXLUE pg-TEQ/Q 1T UF — — - 0. 044 - — 0.17 — 0.14 0.14 — 0.12 0.044 0.17
WB[ITFILRUEY mg/Q - - - - - - - <_0.0001 - - - — < 0.0001 ] <0.0001 J <0.0001
24T mg/4 - — — — — - — < 0.001 — - — — <0.001 ]<0.001 J<0.001
2B(F LY mg/Q - - - - - - - < 0.001 - - - — <0.001 ]<0.001 | <0.001
26|p H - 7.9 1.9 — 8.0 — 1.9 1.9 — 1.9 1.9 — 8.0 1.9 8.0
271|BOD mg/Q - — — — < 0.5 — — 0.6 — 1.2 1.2 — 0.8 <0.5 1.2
28| COD mg/Q - — — — 3.1 — — 3.0 — 2.4 2.4 — 3.1 2.4 3.1
29|ss mg/Q - - - - 3 - - 2 - 1 1 — 2 1 3
RUES+3 mg/4 - — — — 2.0 - — 2.3 — 2.0 2.0 — 2.8 2.0 2.8
(&Y A mg/Q - - - - 0.022 - - 0.014 - 0.020 0.020 — 0.023 0.014 0.023
32 |iBiEYA A > mg/4 - 88 120 110 110 120 110 12 71 120 120 120 110 12 120
B |ESIEEE (1 S/cm - 400 500 480 470 530 500 410 410 590 590 580 560 400 590

XERBITIAODA TV BB LATIEORETEHEY A H o ==H. KA,



7—18 7—19
2 = " =
NO 5 g B B *;%(JEIGJ):”"’ EEIITHR
HEEAHB H21.5.20 | H21.8.5 | H21.10.7 | H21.12.2 H21.5.20 | H21.8.5 | H21.10.7 | H21.12.2
Xix Bh £Y £Y 2Y En 2U ] Y
FRER R 9:40 9:10 8:53 9:42 9:49 9:53 9:42 10:03
= 5
: e s e e |
ERE E4 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
18 i3] B B i3] EgE) mE EgE) mE
=5 BE ER ER BE ER BR ER BR
1|ARSHL mg/4 0.01 LUTF — — — — — — — — — — — —
2|7y mg/Q T — — — — — — — — — — — —
3 |8 mg/Q 0.01 L] <0.001 < 0.001 < 0.001 < 0.001 <0.001 J<0.001 §J< 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
4 [HtFR mg/Q 0.01 LUF 0.001 0.002 0. 001 0. 001 < 0.001 0.002 0.001 0.002 0. 002 0. 001 0.001 0. 002
5 |#KER mg/Q ]0.0005 LAF — — — — — — — — — — — —
6 |[/RUIEIEET =)L (PCB) mg/Q T - — — - — - — - — - — -
1(oopray mg/Q 0.02 L] <0.001 < 0.001 < 0.001 < 0.001 <0.001 J<0.001 j< 0.001 < 0.001 < 0.001 < 0.001 <0.001 < 0.001
8 |miEbikE mg/Q 0.002 UTF — < 0.0001 — — < 0.0001 ] <0.0001 — < 0.0001 — — < 0.0001 | <0.0001
RN A==E X mg/Q 0.004 LIT] <0.0001 ] <0.0001 ] <0.0001 | <0.0001 ] <0.0001 ] <0.0001§< 0.0001 J < 0.0001 J < 0.0001 J < 0.0001 | <0.0001 J <0.0001
o 1-vyeaxFLy mg/Q 0.02 LLF] <0.001 < 0.001 < 0.001 < 0.001 <0.001 J<0.001 §J< 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
11|[¥x-1,2-CHpnpxFLY mg/Q 0.04 U] <0.001 < 0.001 < 0.001 < 0.001 <0.001 J<0.001 j< 0.001 < 0.001 < 0.001 < 0.001 <0.001 < 0.001
1211, 1,1-F)o0O0x52 Y mg/Q 1 UTF — < 0.0005 — — < 0.0005 ] <0.0005 — < 0.0005 — — < 0.0005 | <0.0005
1311,1,2-k)Y00xT8 > mg/Q 0.006 LLF — < 0.0001 — — < 0.0001 ] <0.0001 — < 0.0001 — - < 0.0001 | <0.0001
4|y oo0TFLY mg/Q 0.03 LUTF — < 0.001 — — <0.001 ] <0.001 — < 0.001 — — < 0.001 < 0.001
157 k359 TFLY mg/Q 0.01 LLTF] <0.0005 ] <0.0005 | <0.0005 | <0.0005 | <0.0005] <0.0005f< 0.0005 J < 0.0005 J < 0.0005 J < 0.0005 | <0.0005 | <0.0005
16|1,3->oooJoRy mg/Q 0.002 UTF - < 0.0001 — — < 0.0001 ] <0.0001 — < 0.0001 — — < 0.0001 | <0.0001
17[RoEY mg/Q 0.01 LITF] <0.001 < 0.001 < 0.001 < 0.001 <0.001 J<0.001 §j< 0.001 < 0.001 < 0.001 < 0.001 <0.001 < 0.001
18|zL > mg/Q 0.01 LUTF — < 0.001 — — <0.001 ] <0.001 — < 0.001 — — < 0.001 < 0.001
19 HEBMER mg/Q 10 LIF — 0.30 — — 0.3 0.3 — 0. 36 — - 0.36 0.36
EHREER mg/Q — < 0.005 — — <0.005 ] <0.005 — < 0.005 — — < 0.005 < 0.005
205 2% mg/Q 0.8 LI'F — <0.15 — — <0.15 <0.15 — < 0.15 — - <0.15 <0.15
201{IF5%F mg/Q 1 L] <0.02 <0.02 0.02 <0.02 <0.02 <0.02 < 0.02 < 0.02 0.03 < 0.02 <0.02 0.03
2| FAXFIUE pg-TEQ/2 1 UTF — 0.043 — — < 0.043 0.043 — 0.043 — - 0.043 0.043
B|ZTFILRUEY mg/Q - — < 0.0001 — — < 0.0001 ] <0.0001 — < 0.0001 — — < 0.0001 | <0.0001
24|y mg/Q - — < 0.001 — — <0.001 ] <0.001 — < 0.001 — - <0.001 < 0.001
25|1F LY mg/Q - — < 0.001 — — <0.001 ] <0.001 — < 0.001 — — < 0.001 < 0.001
26|p H - 1.4 1.4 1.3 1.5 7.3 1.5 1.4 1.4 1.5 1.5 1.4 1.5
27|BOD mg/Q - — <0.5 — — <0.5 0.5 — < 0.5 — — <0.5 <0.5
28|cOD mg/Q - - 2.0 — - 2 2.0 — 1.8 — - 1.8 1.8
29|S s mg/Q - — 2 — — 2 2 — 2 — — 2 2
0| EEFR mg/Q - — 0.37 — — 0.37 0.37 — 0.40 — - 0.4 0.4
N|2YA mg/Q - — 0. 006 — — 0. 006 0. 006 — 0. 006 — — 0.006 0. 006
32 |G A > mg/Q - 5.4 5.5 6.0 5.7 5.4 6 7.1 6.3 9.4 6.9 6.3 9.4
33| BRInER £S/cm - 71 78 98 77 71 98 79 80 110 82 79 110




7—20

SR his
NO E B s | mmmse BRI
HEEAD M7 17 | 2124 | W21 34 [ W21 520 W21 7.1 | W21 8.5 | W21 107 | W21 122
Kz £Y En En B £Y 55 £Y B
R 11:46 13:19 .22 T1:22 10:27 10:37 10:19 9. 47
5 °C 12 2.2 3.0 22.8 19.4 19.0 13.8 6.8 -
KB °c 33 3.0 36 3.6 13.4 2.1 12.5 7.1 BME | BAE
BRE B > 30 > 30 = 30 = 30 > 30 > 30 > 30 = 30
=RiE] Eis) i) Fid2] meE g2 e FidE] e
25 ] |R ] | |E | |E |
HETSEGIA me/0 0.01 BF]_ — - - - - - - - = =
2|1v7y mg/Q N — — — — — — — — — —
3% me/0 0.0 LIF| - < 0,001 = 0001 |< 0001 J<o0001 [<0001 [<o000i |<000i |<o000i
4 [t me/0 0.01 LF| - < 0.001 = < 0.001 |< 0001 J<o001 [<o0001 [<o0001 |<o000 |<o000i
5 [#kER me/8 ] 0.0005 L]  — - - - = - = - = -
6 [ IEILE 7 = =)L (PCB) me/0 FBH = = = = = = = = = =
APZEEE Y me/0 0.02 LIF| - < 0.001 = < 0.001 |< 0001 J<oo00r [<o0001 [<o0001 | <0001 |<oo00i
8 (BT me/t | 0.002 LF|  — < 0.0001 = < 0.0001 | < 0.0001 [ < 0.0001 [ < 0.0001 [ < 0.0001 | <0.0001 | <0.0001
9[l.o-chaRzay mg/0 | 0.004 LIF| — < 0.0001 = < 0.0001 | < 0.0001 | < 0.0001 [ < 0.0001 [ < 0.0001 | <0.0001 | <o0.0001
01, 1->soazFLy me/0 0.02 UF| = < 0,001 = 0.001 [< 0001 J<o0.001 [<0001 [<o000f |<000 |<o000i
M[oA-1.29500TF Lo mg/Q 0.04 LF| - < 0.001 = < 0.001 |< 0001 J<o001 [<o0001 [<o0001 |<o000 |<o000i
12[1.1.1-ryso0x 8y me/0 TuF| = < 0.0005 = < 0.0005 | < 0.0005 | < 0.0005 [ < 0.0005 [ < 0.0005 | <0.0005 | <0.0005
BN AYPEEELP; mg/0 | 0.006 LIF| — < 0.0001 = < 0.0001 | < 0.0001 | < 0.0001 [ < 0.0001 [ < 0.0001 | <0.0001 | <o0.0001
NIYEEEEE D, me/0 0.03 LF| - < 0,001 = < 0.001 [< 0001 J<o0.001 [<0001 [<o0.00f |<000 |<o000i
5|7 FSoOO0TF Lo me/Q 0.01 UF| ~— < 0.0005 = < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 [ < 0.0005 | <0.0005 | <0.0005
16[1.3-S/0070~> me/8 | 0.002 UF| — < 0.0001 = < 0.0001 | < 0.0001 [ < 0.0001 | < 0.0001 [ < 0.0001 | <0.0001 | <0.0001
T[Rov me/0 0.01 LF| - < 0.001 = < 0.001 [< 0001 J<o001 [<o0001 [<o0001 |<o000 |<o0o00i
18l me/0 0.01 F| = = - < 0,001 - 0.001 J< 0001 J<o0.001 |<0.00 |<o0.00i
1o [EEEER me/Q 10 BT — = — 1.1 — 15 0.88 13 0.88 15
BIREER me/0 - - - < 0.005 = 0,006 |< 0005 |<0.005 | <0005 | <0005
0[5-% me/0 0.8 IF| - - - <015 = <015 <015 J<oi15s <015 <015
AIEEES me/0 TUT[<002 [<002 [<002 [<002 [<002 [<002 |<o002 [<002 [<002 <002
N peg-TEQ/Q TR — — - 0.042 = 0.042 0.044 0.043 0.042 0. 044
BlTFLA B me/0 = - - - < 0.0001 = 200001 | < 0.0001 [ < 0.0001 | <0.0001 | <0.0001
IS me/0 = - - - < 0.001 = < 0.001 J< 0001 J<o0001 |<o000 |<o000i
%BlEo L me /0 = - - - < 0,001 = 0.001 J< 0001 J<o0.001 |<0.00 |<0.00i
26]p H = 71 6.8 7.0 6.8 6.9 6.9 6.9 7.0 6.8 71
27[B0D me/0 = - - - 0.6 - 0.6 14 0.5 0.5 14
28[CoD me/Q = = = = 2.5 = 2.6 3.1 2.9 2.5 31
2[ss me/0 = — — - 3 - 4 4 5 3 5
EEES me/0 = — - - 13 = 16 13 16 13 16
BIEY me/0 = - - - 0.009 = 0.010 0,011 0.019 0.009 0.019
RIS me/0 = 5.4 5.5 5.5 2.9 ] 4.7 5.0 2.9 4.7 5.5
BESEEE 1S/cm = 89 92 84 79 81 87 93 88 79 93




7—21
Fegi=]

NO E B s | mmae BRI

REEAHE H21.1.7 H21.2. 4 H21.3.4 H21.4.22 | H21.5.20 H21.6.3 H21.7.1 H21.8.5 H21.9.2 H21.10.7 | H21.11.4 | H21.12.2

xE D 23 =0 W ih | 2U D D in | v D i

FRERRS ZI| 10:47 12:15 10:37 11:34 10:43 10:46 10:41 10:13 9:48 10:41 10:36 9:59

KR °Cc 1.4 -2.1 1.1 14.0 22.2 19.9 18.8 19.7 20.0 13.7 10.3 5.7 -

Kig °Cc 1.0 0.7 0.6 13.2 12.9 13.4 15.8 15.7 15.3 13.3 7.8 5.0 R/IME RAME

BRE 3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30

&1 wE RE wE RE wE RE wE wE wE wE wE wE

a5 ®E mE ®E mE ®E mE wE wE BE wE BE wE

RETSEIA e/t | 001 IE] - = = = = = = = = = = = = =
27> mg/0 | A = = = = = = = = = = = = = =
3]s mg/t | 0.01 BIF| = | < 0.001 = - |[<oo — | <0001 |< o000 — <000 — [ <0001 [ <0001 | <0001
EER mg/t | 001 LIF| — | < 0.001 = — <000 — |< o000 [<oo0i — [<ooo — [ <0001 | <0001 | <0000
5 [k mg/2_|0.0005 LIF| = = = = = = = = = = = = =

6 [RUBEETIz=)L PB) | me/s | 7@ = = = = = = = = = = = = = =
VAPZA=1=E X W, mg/Q 0.02 LUF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
8 |miEibikE mg/Q 0.002 LIF — < 0.0001 — - < 0.0001 - < 0.0001 | < 0.0001 — < 0.0001 — < 0.0001 < 0.0001 < 0.0001
9(1,2-CHsppxT4ay mg/Q 0.004 LI — < 0.0001 — — < 0.0001 — < 0.0001 | < 0.0001 — < 0.0001 — < 0.0001 < 0.0001 < 0.0001
10)11,1-y00xFL > mg/Q 0.02 LIF — < 0.001 — - < 0.001 - < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
1M|>R-1,2->HpnO0xFL Y mg/Q 0.04 LIF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
12(1,1,1-k) o002 > mg/Q 1 UTF — < 0.0005 — - < 0.0005 - < 0.0005 | < 0.0005 — < 0.0005 — < 0.0005 < 0.0005 | < 0.0005
13|11,1,2-ry AT R Y mg/Q 0.006 LI — < 0.0001 — — < 0.0001 — < 0.0001 | < 0.0001 — < 0.0001 — < 0.0001 < 0.0001 < 0.0001
14|c)0QTFLY mg/Q 0.03 LIF — < 0.001 — - < 0.001 - < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
15|17 > 200TFLY mg/Q 0.01 LIF — < 0.0005 — — < 0.0005 — < 0.0005 | < 0.0005 — < 0.0005 — < 0.0005 < 0.0005 | < 0.0005
16(1,3->Hrop7aRy mg/Q 0.002 LIF — < 0.0001 — - < 0.0001 - < 0.0001 | < 0.0001 — < 0.0001 — < 0.0001 < 0.0001 < 0.0001
17| mg/Q 0.01 LUTF — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
18|L > mg/Q 0.01 LUF — — — - < 0.001 - — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
19 THEEEER mg/Q 10 UF — — — — 1.3 — — 1.9 — 1.3 — 2.0 1.3 2

HIEEEEER mg/Q — — — - < 0.005 - — 0.009 — 0.008 — < 0.005 < 0.005 < 0.009

20|5 0% mg/Q 0.8 LI F — — — — < 0.15 — — < 0.15 — < 0.15 — <0.15 <0.15 <0.15
ESES mg/Q 1 LLIF[< 0.02 < 0.02 0.02 < 0.02 0.03 0.02 0.02 < 0.02 0.03 0.02 0.02 0.02 <0.02 0.03
| FAFF U pg-TEQ/Q 1 UF — — — — 0.042 — — 0.043 — 0.043 — 0.043 0.042 0.043
| TFIAEY mg/Q - — - - - < 0.0001 - - < 0.0001 — < 0.0001 — < 0.0001 < 0.0001 < 0.0001
24k mg/Q - — — — — < 0.001 — — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
25 LY mg/Q - — — — - < 0.001 - - < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
26(p H - 7.3 7.0 7.2 7.5 7.3 7.4 7.3 7.3 7.3 7.3 7.3 7.3 7.0 1.5
27|BOD mg/Q - — — — — 0.5 — — < 0.5 — 1.7 — <0.5 <0.5 1.7
28|COD mg/Q - — — — — 2.7 — — 3.7 — 2.9 — 2.5 2.5 3.7
29[(s s mg/Q - — — — — <1 - - 3 — <1 — 1 <1 3
KEX-E mg/Q - — — — — 1.5 — — 2.1 — 1.6 — 2.3 1.5 2.3
N&eYA mg/Q - — — - - < 0.005 - - 0.007 - < 0.005 - < 0.005 < 0.005 0.007
32| jetl mg/Q - 52 54 64 30 29 28 36 30 31 54 56 40 28 64

B EREEER #S/cm - 230 250 290 190 180 180 210 200 210 310 300 240 180 310




7—22

No 8 s | msmze RS
HEEAD M7 17 | 2124 | A21 34 [ W21 520 | W21 7.1 | W21 8.5 | W21 107 | W21 122
% U Za 3 B 2Y Y U £y
R 9:12 9:38 9:14 9:17 9:04 8:50 844 9:10
5 °C 0.2 35 0.5 216 18.6 211 18.0 9.2 -
KB °c 1.7 15 7.0 123 16.7 15.7 13.0 5.2 BME | BAME
BRE B > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30
=RiE] Eis) i) Eis) IR g2 e g2 |
25 ] |R ] |R |E | |E |
HETSEGIA me/0 0.01 BF]_ — - - - - - - - = =
2|1v7y mg/Q N — — — — — — — — — —
3 8 me/0 0.0 LIF| - < 0,001 = 0001 |< 0001 J<o0001 [<0001 [<o000i |<000i |<o000i
4 [t me/0 0.01 LF| - < 0.001 = 0. 001 0.001 0.002 | < 0.001 [<o0.001 | <o 001 0.002
5 [#7kaE me/8 ] 0.0005 L]  — - = - = - = - = -
6 [ IEILE 7 = =)L (PCB) me/0 FRH = = = = = = = = = =
APZEEE Y me/0 0.02 LIF| - < 0.001 = < 0.001 |< 0001 J<oo00r [<o0001 [<o0001 | <0001 |<oo00i
8 (BT me/t | 0.002 LF|  — < 0.0001 = < 0.0001 | < 0.0001 [ < 0.0001 [ < 0.0001 [ < 0.0001 | <0.0001 | <0.0001
9[l.2>rnAThy mg/0 | 0.004 LIF| — < 0.0001 = < 0.0001 | < 0.0001 | < 0.0001 [ < 0.0001 [ < 0.0001 | <0.0001 | <o0.0001
01, 1->soazFLy me/0 0.02 UF| = < 0,001 = 0.001 [< 0001 J<o0.001 [<0001 [<o000f |<000 |<o000i
M[oA-1.29500TF Lo mg/Q 0.04 LF| - < 0.001 = < 0.001 |< 0001 J<o001 [<o0001 [<o0001 |<o000 |<o000i
12[1.1.1-ryso0x 8y me/0 TuF| = < 0.0005 = < 0.0005 | < 0.0005 | < 0.0005 [ < 0.0005 [ < 0.0005 | <0.0005 | <0.0005
BN AYPEEELP; mg/0 | 0.006 LIF| — < 0.0001 = < 0.0001 | < 0.0001 | < 0.0001 [ < 0.0001 [ < 0.0001 | <0.0001 | <o0.0001
NIYEEEEE D, me/0 0.03 LF| - < 0,001 = < 0.001 [< 0001 J<o0.001 [<0001 [<o0.00f |<000 |<o000i
5|7 FSoOO0TF Lo me/Q 0.01 UF| ~— < 0.0005 = < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 [ < 0.0005 | <0.0005 | <0.0005
16[1.3-S/0070~> me/8 | 0.002 UF| — < 0.0001 = < 0.0001 | < 0.0001 [ < 0.0001 | < 0.0001 [ < 0.0001 | <0.0001 | <0.0001
T[Rov me/0 0.01 LF| - < 0.001 = < 0.001 [< 0001 J<o001 [<o0001 [<o0001 |<o000 |<o0o00i
18l me/0 0.00 LF| - — - < 0,001 = 0.001 J< 0001 J<o0.001 |<0.00 |<o0.00i
1o [BERFEE R me/0 10 oF —— - - 0.53 - 0.64 0.58 0.57 0.53 0.64
ERBEEE me/0 — - - < 0.005 = 0,006 | <0005 |<0.005 | <0005 | <0005
0[5-% me/0 0.8 IF| - = - <015 - <015 <015 J<oi15s <015 <015
AIEEES me/0 TUT[<002 [<002 [<002 [<002 [<002 [<002 |<o002 [<002 [<002 <002
N peg-TEQ/Q TR — = = = = = = = = =
BlTFLA B me/0 = - - - < 0. 0001 = < 0.0001 | < 0.0001 [ < 0.0001 | <0.0001 | <0.0001
IS me/0 = - - - < 0.001 = < 0.001 J< 0001 J<o0001 |<o000 |<o000i
%BlEo L me /0 = — - - < 0,001 = 0.001 J< 0001 J<o0.001 |<0.00 |<0.00i
26]p H = 7.2 7.2 7.2 7.4 7.2 7.3 7.5 7.3 7.2 7.5
27[B0D me/0 = - - - 0.9 - 0.7 13 0.5 0.5 13
28[CoD me/Q = = = = 2.6 = 2.7 17 15 15 2.7
29]ss me/0 = — — — 5 - 2 1 T & 5
EEES me/0 = — - - 0.76 - 0.69 0.70 0.63 0.63 0.76
BIEY me/0 = — — - 0.048 - 0.007 0.009 0.006 0.006 0.048
RIS me/0 = 7.5 7.9 8.3 7.5 8.0 6.5 8.1 6.9 6.5 8.3
BESEEE 1S/cm = 99 9% 9% 88 100 90 110 88 88 110

10




7—32

7—32

No " B s | mmme FAGHNKR

REFAH H21.5.20 | H21.8.5 | H21.10.7

%E in | By | =y

REEFZY 9:03 8:56 9:30

8 o

i < oo || R | ek

BRE E3 = 30 = 30 = 30

&1 wE | ®mE | mE

a5 me | ms | ms

A FEoL T I = = = =
2|37y mg/Q Tt — - — - —

3 |8n mg/Q 0.01 LLF ] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
4 [Ht®R mg/4 0.01 LI'F 0. 002 0. 002 0. 001 0. 001 0. 002
5 |#27KER mg/¢ ] 0.0005 LAF - - - - -

6| RUBEE Tz =00 (o8 | ne/t | = = = = =
1(oopray mg/4 0.02 LLF ) < 0.001 < _0.001 < _0.001 < 0.001 < _0.001
8 |migbikE mg/Q 0.002 LL'F — < 0.0001 — < 0.0001 | < 0.0001
RN rA==E X mg/Q 0.004 LA < 0.0001 < 0.0001 < 0.0001 J <0.0001 | < 0.0001
101, 1-CyopxTFL mg/Q 0.02 LI < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
11|[Yx-1,2-HnpxFLY mg/4 0.04 LLF) < 0.001 < _0.001 < _0.001 < 0.001 < _0.001
1211, 1,1-F)o0O0x52 Y mg/Q 1 UF - < 0.0005 — < 0.0005 | < 0.0005
13[1,1,.2-kYy0O0x8 > mg/Q 0.006 LLF — <_0.0001 — < 0.0001 J < 0.0001
4| )BT FLY mg/Q 0.03 LI'F - < 0.001 — < 0.001 < 0.001
157 k359 TFLY mg/Q 0.01 LLF] < 0.0005 | < 0.0005 ) < 0.0005 | <0.0005 | < 0.0005
16]1,3-onnJoRy mg/Q 0.002 LL'F - < 0.0001 — < 0.0001 | < 0.0001
17[RoEY mg/4 0.01 LLF) < 0.001 < _0.001 < _0.001 < 0.001 < _0.001
18[EL > mg/Q 0.01 LUF - < 0.001 — < 0.001 < 0.001

THEAEER mg/4 . - 0.70 — 0.70 0.70

19 EEMEER mg/Q 100 2P — < 0.005 — <0.005 < 0.005
205 2% mg/4 0.8 LI'F — < 0.15 — <0.15 < 0.15
AlESES mg/Q 1 UUF]<0.02 < 0.02 < 0.02 <0.02 < 0.02
R\ FAAXLUE pg-TEQ/Q 1 UTF — 0. 042 — 0. 042 0. 042
WB[ITFILRUEY mg/Q - — < 0.0001 — < 0.0001 | < 0.0001
24| b mg/4 - — < _0.001 — < 0.001 < _0.001
25|1F LY mg/Q - — < 0.001 — < 0.001 < 0.001
26|p H - 6.9 6.9 6.9 6.9 6.9
271|BOD mg/Q - — < 0.5 — <0.5 < 0.5
28| COD mg/Q - — < 0.5 — <0.5 < 0.5
29|ss mg/Q - - <1 — <1 <1
RUES+S mg/4 - — 0. 66 — 0. 66 0. 66
(&Y A mg/Q - - 0.015 — 0.015 0.015
32 [IBfe A A > mg/4 - 1.7 1.5 1.9 1.5 1.9
33 | ESInEE (1 S/cm - 99 110 110 99 110

11

No & 8 s z}; Efg% jf FKE KR

HEFERH H21.12.2

Xz £Y

BEREFZ 9:25

SR °Cc 7.3

KR °C 1.0

ERE E3 = 30

18 EgE)
= ER

1| —RHE {&/me 100 LUF 14

2 | KBE THRH (£33

3 |AKSIHL mg/Q 0.01 UTF <0.001

4 |KER mg/Q 0.0005 LT < 0.0005

6 |8 mg/4 0.01 UTF <0.001

1 |#tE mg/Q 0.01 KT 0. 001

8 [Kfliv AL mg/Q 0.05 KT <0.02

9 P7AEMIA A U R UEIEYTY mg/Q 0.01 UTF <0.001

10 |FHEREERRUEMBEESR mg/Q 10 WUTF 0. 67

1 |7vE mg/Q 0.8 LT <0.15

12 [FRV% mg/4 1 UTF <0.02

13 |miEbikE mg/Q 0.002 LT < 0.0001

14 1, 4-OFF Y5> mg/Q 0.05 KT < 0.005

15 {/’;\_;.};E/DOID?DI/I;‘-I//&U SR~ me/2 004 uF | < 0. 001

16 [CHrooAs> mg/Q 0.02 UTF <0.001

17 |73 8080TFLY mg/Q 0.01 KT < 0.0005

18 |[r)YOBOITFLY mg/Q 0.03 LT <0.001

19 [Rovy mg/Q 0.01 KT < 0.001

20 |#mEh mg/Q 1 UF < 0.005

21 |[PILE=) L mg/Q 0.2 UTF 0.007

22 (8% mg/Q 0.3 LUF <0.05

23[R mg/4 1 UTF < 0.005

24 | FRUDL mg/4 200 UTF 7.9

25 |RUAY mg/Q 0.05 KT <0.01

26 i1 A4 > mg/Q 200 UTF 10

27 [avomh, I R90E (FEE) mg/Q 300 LT 29

28 [EFEEEY mg/Q 500 T 100

29 |BE4 A REmEHEH mg/ 8 0.2 UTFT | <0.02

0 |[xARIY mg/Q 0.00002 LLF < 0.000001

31 [2-AF LA YHRILRA—IL mg/Q 0.00002 LITF < 0.000001

32 1A REmiEHEH mg/Q 0.02 LT | <0.005

33 |7/ —I%E mg/Q 0.005 LIF < 0.0005

34 |B#m (T00) mg/4 3 UTF <0.5

35 |pH 5.6~8.6 7.1

3% |55 EETRHL_E mE

37 |fafE B 5 UTF 1

38 & E 2 _UT 1




(2) DK

NO E A By |EBIcRLE .
R o. 8

BHEEAH W21.1.7 | H21.2.4 | H2l.3.4 | H2i. 422 | H21.5.20 | H21.6.3 | H2l.7.1 | H21.8.5 | H21.9.2 | H2i.10.7 | 2i.11.4 | i2i.12.2

E £Y En En 5 BN Y Bl i En ED ED ED

FRERRS ZI| 10:53 10:48 10:26 10:43 10:53 10:05 9:43 10:00 10:23 9:33 11:19 10:00

e °C 0.5 3.1 0.2 1.3 217 22.0 23.2 22.2 21.2 16.9 10.9 50 o -

Kia °C 10.7 10.8 1.2 1.1 10.8 1.1 1.0 1.5 10.6 10.8 10.6 1.3 BME | BAME
ERE E > 30 = 30 > 30 = 30 > 30 = 30 = 30 = 30 > 30 = 30 = 30 = 30

=X RBE BE e RE e BE e WRE e RE W RE

B e e e B e e e B e mE e mE

1hREoLA mg/0 0.01 LR — — — — — — — — — — — — — —
27> mg/2 TR = = = = = = = = = = = = = =
38 mg/0 0.01 LIF — < 0.001 — — < 0.001 — < 0.001 | < 0.001 — < 0.001 — 0.007 | <0.001 0.007
3 [ (2w © mg/0 0.01 WF - — - — - — - — - — - <0.001 | <0.001 | <0.001
S mg/0 0.01 LIF — < 0.001 — — < 0.001 — < 0.001 0.001 — < 0.001 — <0.001 | <0.001 | <0.001
4] ) X mg/Q 0.0l IIF — - — — — — — <_0.001 — — — — <0.001_| <0.001
5 [{7KaR mg/8 | 0.0005 LIF — — — — — — — — — — — — — —

6 [/RBIEEZ =)L (PCB) mg/2 TR = = = = = = = = = = = = = =
APZEEEEY mg/0 0.02 LIF — — — — < 0.001 — — < 0.001 — < 0.001 — <0.001 | <0.001 | <0.001
S me/0 | 0.002 LIF = — - - - - - < 0.0001 - - 0.0001 | <0.0001 | <0.0001
9[,2-CyonxTa> mg/8 | 0.004 LIF — — — — < 0.0001 — — <_0.0001 — <_0.0001 — <0.0001 | <0.0001 | <0.0001
o[1.1->sonIFLy mg/0 0.02 WLF - — - — < 0.001 — - < 0.001 - < 0.001 - <0.001 | <0.001 | <0.001
M|ozx.2-os0nTFLy me/8 0.04 LIF — — — — < 0.001 — — < 0.001 — < 0.001 — <0.001 | <0.001 | <0.001
2. 1-rysO0RTay mg/0 1T UF - — - — - — - < 0.0005 - — - <0.0005 | <0.0005 | <0.0005
Bl 1 2-rysnO0Ta> mg/8 | 0.006 LIF — — - = - — — <_0.0001 — — — <0.0001 | <0.0001 | <0.0001
NIYEEEEEYY mg/0 0.03 BIF = — - - - = - < 0.001 - — - <0.001 | <0.001 | <0.001
5|7 k5o 0OIFLY mg/0 0.01 T — — — — < 0.0005 — — <_0.0005 — <_0.0005 — <0.0005 | <0.0005 | <0.0005
NSRS me/0_| 0.002 LIF — — — — — — — <_0.0001 — — — <0.0001 | < 0.0001 | <0.0001
7 [Roty mg/0 0.01 LIF — — — — < 0.001 — — < 0.001 — — — <0.001 | <0.001 | <0.001
sleL> mg/0 0.01 BIF = — - - - - - < 0.001 - — - <0.001 | <0.001 | <0.001
1o [BEEEER meg/2 10 BF — — — — — — - 3.9 — — — 3.9 3.9 3.9

ERBEER mg/0 - - - — - — - < 0.005 - — - <0.005 | <0.005 | <0.005

20[5o% mg/0 0.8 T — — - = - = — < 0.15 — — — <0.15 <0.15 <0.15
RIEEES mg/0 1T WF| 021 0. 21 0.24 0.22 0.13 0.14 0.22 0.15 0.13 0.16 0. 21 0.19 0.13 0. 24
2| FAAFL 8B pe-TEQ/2 1T UF = — = - - - - 0.082 - — - 0. 067 0.067 0. 082
B[TFARUEY mg/0 - — — — — - = - <_0.0001 — — — <0.0001 | <0.0001 | <0.0001
I IED mg/0 - - - - — - — - < 0.001 - — - <0.001 | <0.001 | <0.001
B[FLY mg/0 - - — — — - = - < 0.001 — — — <0.001 | <0.001 | <0.001
26| p H - 6.5 6.5 6.5 6.5 6.4 6.3 6.5 6. 4 6.3 6. 4 6.5 6.6 6.3 6.6
27{BOD mg/0 - — — — — — — — — — — — — — —
28[coD mg/0 - - — - — - — - — - — - — - —
29[S s mg/0 - — — — — — — — — — — — — — —
0 |&2=% mg/0 - - — - — - — - — - — - — - —
312 YA mg/0 - — — — — — — — — — — — — — —
32| EiLmA A >~ mg/0 - 21 59 94 60 74 91 52 23 77 34 36 39 21 94

B |ELEEE 1S/cm - 410 530 610 530 540 550 520 450 640 660 570 530 410 660
X BAKEB-REAL-TEZREL. KEOKREME-IBET 67-0. A5 1L A— (RLZ0.45um CABLEEDARI-DOVC DM E =T,
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7—9

B FADKE ;
NO " B |BBREE s
P :

REFHRH H21.1.7 H21.2.4 H21.3.4 | H21.4.22 | H21.5.20 | H21.6.3 H21.7.1 H21.8.5 H21.9.2 | H21.10.7 | H21.11.4 | H21.12.2

xi ) gn_ | wn | =u an_| =y | =y ® gn_ | =v | =0 | =V

REEFZ 11:50 12:23 11:30 11:17 12:27 10:01 10:35 9:51 10:46 9:10 11:47 9:05

il °C 2.3 -2.1 0.6 9.8 21.3 21.0 21.0 19.6 19.9 13.9 10.7 5.1 =

KB °Cc 9.2 9.1 9.3 9.3 9.7 9.3 9.4 10.4 9.4 10.8 9.3 8.5 BIME BAiE

BRE E = 30 = 30 = 30 = 30 9 = 30 = 30 = 30 = 30 = 30 = 30 = 30

&1 me | me | me | me | mwe | ®me | ®me | mme | ®e | ®mE | ®mE | me

[X me | me | ms | ms | m= | ms | mm | mm | ®mm | mm | ms | m=s

HEESGIA me/e | oot mE = = = = = = = = = = = = =
ADS, ng/t | FEH = = = = = = = = = = = = = =

3 |8n mg/Q 0.01 LLF ) < 0.001 < 0.001 < 0.001 < 0.001 X2 < 0.001 < 0.001 0.003 0. 001 < 0.001 < 0.001 0. 002 < 0.001 0.003
3 s (2 © mg/t | 0.00 LF|  — = — — — — —  [<o0.001 [<0.001 — — <0.001 | <0.001 | <0.001
4 [Ht%R mg/Q 0.01 LUF 0.002 0.003 0. 002 0. 005 X2 < 0.001 0.002 ] < 0.001 < 0.001 0.002 0. 002 0. 001 < 0.001 0. 005
7 [z om) © mg/C | 001 LF| 000 | 0002 | 0001 | 0004 - - 0.001 - - 0001 | 0001 | 0001 | 0001 | 0004
5 KB mg/0 [ 0.0005 LT[ — = = = = = = = = = = = = =

6 |[RUIEILEZ =)L (PCB) mg/Q THEH — - — - — - — - — < 0.001 — < 0.001 < 0.001 < 0.001
1{(vopirsay mg/Q 0.02 LI'F - < 0.001 - - < 0.001 - < 0.001 < 0.001 — < 0.0001 — < 0.0001 | <0.0001 ) <0.001
8 |miEibikE mg/4 0.002 LLI'F - - — - < 0.0001 - <_0.0001 — <_0.0001 — < 0.0001 | <0.0001 § <0.0001
9[1.2-vYnnxsy mg/4 0.004 UTF — < 0.0001 — — < 0.0001 — < 0.0001 J < 0.0001 — < 0.001 — < 0.001 < 0.0001 | <0.001
wo1->yanxFLy mg/Q 0.02 LI'F — < _0.001 — — < _0.001 — < _0.001 < _0.001 — < _0.001 — < 0.001 < 0.001 < 0.001
11[¥&R-1,2-YynExFLY mg/Q 0.04 LUI'F — < 0.001 — — < 0.001 — < 0.001 < 0.001 — < 0.0005 — < 0.0005 | <0.0005 ) <0.001
121,1,1-fYyoo0x8 > mg/Q 1 UTF — - — — < _0.0005 — — < _0.0005 — <_0.0001 — < 0.0001 | <0.0001 ) <0.0005
13[1,1,2-+Yy00x32 > mg/Q 0.006 LL'F — — — — < 0.0001 — — < 0.0001 — < 0.001 — < 0.001 < 0.0001 | <0.001
4|y FLY mg/Q 0.03 LIF — — — — < _0.001 — — < _0.001 — < _0.0005 — < 0.0005 | <0.0005 ) <0.001
1573200 ITFLY mg/Q 0.01 LUF - <_0.0005 - - < 0.0005 — < 0.0005 | < 0.0005 — < 0.0001 — < 0.0001 | <0.0001 | <0.0005
16(1,3->san07OoRy mg/Q 0.002 LI'F — — — — <_0.0001 — — <_0.0001 — — — — < 0.0001 J <0.0001
17N EY mg/Q 0.01 LUTF - < 0.001 - - < 0.001 - < 0.001 < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
18[EL > mg/Q 0.01 LUF — — — — 0. 002 — — < _0.001 — < _0.001 — 0. 002 < 0.001 0. 002
19 THRR =R mg/Q 10 BF - - - — 1.6 - - 1.8 - 0.29 — 1.1 0.29 1.8
IRER G EES mg/4 — - — - 0. 005 - — <_0.005 — < _0.005 — < 0.005 < 0.005 < 0.005
20|55 2% mg/2 0.8 LI'F - - - - <0.15 - - < 0.15 - < 0.15 — <0.15 <0.15 <0.15
21{IF5%F mg/4 1T UF 0.02 0.04 0.04 0.02 0.03 0.03 0.03 < 0.02 0.03 0.03 0.02 0.04 <0.02 0.04
R FAAFLUE pg-TEQ/Q 1 UF - - - - X2 - - 0. 044 - 0.043 — 0.042 0.042 0.044
WB[TFLAUEY mg/Q - — - — - < 0.0001 - — <_0.0001 — <_0.0001 — < 0.0001 | <0.0001 § <0.0001
24 kLT mg/Q - - - - - < 0.001 - - < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
B|FLY mg/Q - — - — - < 0.001 - — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
26|p H - 6.7 6.7 6.8 6.5 6.4 6.6 6.5 6.6 6.4 6.6 6.6 6.8 6.4 6.8
271|BOD mg/Q - — — — — — — — — — — — — — —
28|cOD mg/4 - — — — — — — — — — — — — — —
29|S s mg/Q - — — — — — — — — — — — — — —
IEEES ng/0 - = = = = = = = = = = = = = =
312 YUA m /2 - = - = - = - = - = - = - = -
32 [IEie1 4 > mg/4 - 84 85 82 82 11 86 87 59 62 85 85 83 59 81

33| ERIGEE (1 S/cm - 360 360 370 390 370 380 400 350 390 450 450 440 350 450
X1 BKBICEA LR LRERE L. KEORREMEEET 570, A2T507 1 Li— (B0 Hum CTHBLEED BRI >0 CAREER.

X2 BUKERICHOLMCEEARA LIz, RAlE LT,
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7—10

T KDKE .
NO E B s |BEIEAE kol
i—%giﬁ L]

HAEEAD M7 17 | 2124 | 2134 | 21422 | W21 520 | A21.63 | A2l 71 | A21. 85 | A21. 9.2 | A2T 107 | F2T 17.4 | A2T 12.2

Kz £Y En En 55 Eh £Y £Y 55 En =) £ £Y

RS 1311 13:43 12:42 12:18 17:30 11:10 10°58 1130 1145 11:37 11:49 12:22

5 °C 11 23 1 8.8 210 211 201 191 18.8 15.0 12.8 5.0 -

KiE °c 8.4 = 7.0 9.4 7.0 9.3 10.0 9.9 9.9 9.5 9.2 9.0 BME | BAE
BRE B 3 — |=230 = 30 = 30 > 30 = 30 > 30 = 30 > 30 > 30 > 30

& ERE wE wE wE wE wE wE wE wE wE wE wE

Ty me | me | me | ms | ms | wms | mm | me | ms | me | ms | m=

HEESEGIA me/0 0.01 Br] - = = = = = = = = = = = = =

2 o7 me/0 FBH — = — = — = — = — = — = — =
3% me/0 0.01 | 0077 | 0.002 0.002 |< 0001 [< 0001 J<0001 |<0001 [<000i |<000i |<000 |<o0.00i 0.002 | <0.001 0.017
3 [ (Bm) * me/0 0.01 LIT|< 0.001 0.002 | < 0.001 — = — = — = — = 0.001 | <0.001 0.002
4 |itE mg/0 0.01 L] 0.002 [< 0001 |<0001 [<0001 |<000i |<000f |[<000i |<000i |<000i [<000i |<000 |<000 |<000i 0.002
7 = 2w ~ me/Q 0.01 LIT|< 0.001 — = — = — = — = — = — <0.001 | <0.001
5 [#5k3R me/8 ] 0.0005 L]  — — — — — — — — — — — — — —

6 | IEILE 7 = =)L (PCB) me/0 FRH — = — = — = — = — = — = — =
ACZERELE mg/0 0.02 IF] = - - = < 0,001 = 20001 < 0.001 = < 0,001 = <0001 | <0.001 | <0.00i
T mg/0 | 0.002 LIF| — - = = < 0.0001 = = < 0.0001 = < 0.0001 = <0.0001 | <0.0001 | <0.0001
IR, me/t | 0004 LF|  — = = = < 0.0001 = < 0.0001 | < 0.0001 = < 0.0001 = 20,0001 | <0.0001 | <0.0001
0, -o/00TF LY me/Q 0.02 UF| — = = = < 0.001 = < 0.001 < 0.001 = < 0.001 = <0.001 | <0.001 | <0.001
Moz 12950027 0> me/0 0.04 UF| = = = = < 0.001 = 2 0.001 < 0.001 = < 0,001 = <0.001 | <0.001 | <0.00i
AN YPEEELD; me/Q T T — = = = < 0.0005 = = < 0.0005 = < 0.0005 = <0.0005 | <0.0005 | <0.0005
B[, 1,2-F) s O00TA> me/t | 0006 LF|  — = = = < 0.0001 = = < 0.0001 = < 0.0001 = <0.0001 | <0.0001 | <0.0001
NIYEEEEETP, me/Q 0.03 UF| — = = = < 0.001 = = < 0.001 = < 0.001 = <0.001 | <0.001 | <0.001
5|7 FS5o00TF Lo me/0 0.01 F] = = = = < 0.0005 = < 0.0005 | < 0.0005 = < 0.0005 = 0.0005 | <0.0005 | <0.0005
16[1,3-S/ 0070~ mg/t | 0002 UF|  — = = = < 0.0001 = = < 0.0001 = < 0.0001 = <0.0001 | <0.0001 | <0.0001
T[~oB> me/0 0.01 F] = - - = < 0.001 = 20001 < 0.001 = < 0,001 = <0.001 | <0.001 | <0.00i
e, me/Q 0.01 UF| — = = = < 0.001 = = < 0.001 = < 0.001 = <0.001 | <0.001 | <0.001
o [EEEER me/Q 10 uF —— - — — 3.4 — — 12 = 2.7 = 2.2 12 34
MR me/0 - - - = 0.016 = = < 0.005 = < 0.005 = <0.006 | <0.005 0.016
0[5 -% me/Q 0.8 IF| - — - - <015 = = <015 = 015 = <015 | <015 [ <015
N|E>% me/0 T uF| 01 0.10 0.07 0.06 0.08 0.07 0.09 0.11 0.09 0.08 0.09 0.09 0.06 0.11
N pe-TEQ/2 TR — = = = = = = = = = = = = =
BTFLA B me/0 = — = — = <_0.0001 - - < 0.0001 = < 0.0001 = <0.0001 | <0.0001 | <0.0001
U[FILTe me/0 = - - - = < 0.001 = = < 0,001 = < 0,001 = <0.001 | <0.001 | <0.00i
BlEoL me/0 = — = — = < 0.001 - - < 0.001 = < 0.001 = <0.001 | <0.001 | <0.001
26 p H = 71 71 7.2 77 7.0 77 71 71 7.0 7.0 7.0 71 7.0 7.4
27[BoD me/0 = = — = — = — = — = — = — = —
28[ss me/0 = = = = = = = = = = = = = = =
29]coDp me/Q = = = = = = = = = = = = = = =
IEEES me/0 = = = = = = = = = = = = = = =
32V A me/Q = = = = = = = = = = = = = = =
HRE D me/0 = 49 52 57 51 25 59 55 25 20 59 58 26 %5 59
ESEEE 1S/cm = 360 360 330 340 340 360 360 300 350 410 450 370 300 450

X BKEICEAL-TEZREL. KBEDKRZOREIIBET 57-0. A J5oJ1IL3— (AE0.Bum THBLEEDSRIZOLT A E =,

14




HTKDKE

7—23

=]
NO 5 A s |EBcReE eng
R 7K

REEAHE H21.1.7 H21.2. 4 H21.3.4 H21.4.22 | H21.5.20 H21.6.3 H21.7.1 H21.8.5 H21.9.2 H21.10.7 | H21.11.4 | H21.12.2

Xk =y i = =y i ED D D = D D 20

FRERRS ZI| 10:25 10:03 9:55 10:23 10:00 10:27 9:14 12:30 12:03 10:44 10:57 11:30

KR °Cc 1.7 -3.9 0.2 11.9 21.0 23.0 20.8 23.1 26.7 19.5 9.8 10.0 -

Kig °Cc 9.4 9.6 9.9 10.3 11.4 10.2 10.2 14.2 10. 2 10.5 10.0 10.0 R/IME RAME

BRE 3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30

&t BEE | BE wE BE wE wE wE BE wE wE 5E | BEE

85 wa wa ®E wa wa wa ®E wa wa wa wa wa

BEESGIR et T o0 o ] = = = = = = = = = = = = =
A e/t | ARH = = = = = = = = = = = = = =

3 |8n mg/Q 0.01 L] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.002 < 0.001 0.002
3 o (B me/t | 001 LF|  — — — — — — — — — — — 20,001 | <0.001 | <0 001
4 |#t& mg/Q 0.01 L] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.002 < 0.001 0.002
7 iz am © mg/s | 001 LF|  — — — — — — — — — — — 20,001 | <0.001 | <0 001
5 |#a7KER mg/Q 0.0005 LITF — — — — — — — — — — — — — —

s RUBEETz=L P | met | ABH = = = = = = = = = = = = = =
VAPZA=1=B X W, mg/Q 0.02 LLF] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
8 (Uit E mg/Q 0.002 LLF] < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 J < 0.0001 | < 0.0001 J< 0.0001 J< 0.0001 < 0.0001 < 0.0001 < 0.0001
9[(1,2-CHppx4ay mg/Q 0.004 LI < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 J< 0.0001 J < 0.0001 J< 0.0001 J< 0.0001 < 0.0001 < 0.0001 < 0.0001
10(1,1-HoRITFLY mg/Q 0.02 LLIF] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
1M|>R-1,2->HpOxTFL Y mg/Q 0.04 LLIF] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
12|11,1,1-ry AT R Y mg/Q 1 LU < 0.0005 | < 0.0005 | < 0.0005 ] < 0.0005 | < 0.0005 J < 0.0005 | < 0.0005 J < 0.0005 J < 0.0005 ] < 0.0005 | < 0.0005 | <0.0005 < 0.0005 | < 0.0005
13(1,1,2-k) 002> mg/Q 0.006 LLTF] < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 J< 0.0001 J < 0.0001 J< 0.0001 §< 0.0001 < 0.0001 < 0.0001 < 0.0001
1M4|r) 00T FLY mg/Q 0.03 LLIF] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
5|7 00T FLY mg/Q 0.01 LLF] < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 [ < 0.0005 | < 0.0005 | < 0.0005 ] < 0.0005 | < 0.0005 } < 0.0005 < 0.0005 | < 0.0005
16|1,3-> o0 7aRy mg/Q 0.002 LLF] < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 J < 0.0001 | < 0.0001 J< 0.0001 J< 0.0001 < 0.0001 < 0.0001 < 0.0001
17 RoEy mg/Q 0.01 L] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
18|1zL > mg/Q 0.01 LIF — — — — < 0.001 — — < 0.001 — < 0.001 — < 0.001 < 0.001 < 0.001
19 THEETEER mg/Q 10 LT — — — — 1.7 — — 1.8 — 1.6 - 1.7 1.6 1.8
|| HIEEEEE R mg/Q — — — — 0. 006 — — < 0.005 — < 0.005 — 0. 006 < 0.005 0. 006
20(5 0% mg/4 0.8 LIF — — — — < 0.15 - - < 0.15 - < 0.15 - 0.15 <0.15 0.15
211F5% mg/Q 1 LT[ < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 <0.02 <0.02 <0.02
R s | pg-TEQ/Q 1 UF — — — — 0.049 — — 0. 044 - 0. 060 - 0. 045 0.044 0. 060
| ZTFILRUED mg/Q - — — — — — — — < 0.0001 — — — < 0.0001 < 0.0001 < 0.0001
24| MLV mg/Q - — — — — — — — < 0.001 - - - < 0.001 < 0.001 < 0.001
25|F LY mg/Q - — — — — — — — < 0.001 — — — < 0.001 < 0.001 < 0.001
26|p H - 7.1 7.1 7.0 6.8 6.8 7.0 6.8 6.8 6.7 7.1 7.0 7.1 6.7 7.1
27|BOD mg/Q - — — — — — — — — — — — — — —
28|CcOD mg/Q - — — — — — — — — — — — — — —
29|S S mg/Q - — — — — — — — — — — — — — —
R ne/0 = = = = = = = = = = = = = = =
EDP? ne/3 - = = = = = = = = = = = = = =
ﬁiﬁﬂ:%’fﬂ"/ mg/Q - 12 12 12 12 11 12 12 12 12 11 12 12 <1 12

3 |ERIEER ©S/cm 110 120 120 120 120 120 130 150 140 160 150 150 <110 160

X BKBITEALRLEEREL.
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HTFKDKE

T—24

=
NO E B g |5EI-F oA ﬁﬁ"ﬁf;‘f““
B
REEAHE H21.5.20 H21.8.5 H21.10.7 | H21.12.2
Xk =3 & ED D
FRER B ZI 10:12 10:46 10:14 10:25
=] 3
- 5 e B | Exm
BEE % s =3 =30  [=30
&t wE BE wE BE
a5 wa wa ®E mE
A F=5L T TS = = = = =
27> e/t | ARH = = = = = =
3 |8n mg/Q 0.01 LUF 0.001 < 0.001 < 0.001 0.002 < 0.001 0.002
3 o (B mg/8 | 0.01 LIF|< 0.001 — —  [<o0.001 | <o0.00i 0.001
4 |#t& mg/Q 0.01 LUIF 0.003 0. 004 0.002 0.002 0.002 0. 004
4_111% (Bik) X mg/Q 0.01 LUTF 0.001 0.004 0.002 0.002 0.001 0.004
5 |#/kER mg/Q 0.0005 LIF — — — — — —
SR BEE ==L P | men | FRE = = = = = =
VAP A=1=E X W, mg/Q 0.02 LI | < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
8 |miEibikE mg/Q 0.002 L. < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 < 0.0001 < 0.0001
9[1,2-CH/ppxT4ay mg/Q 0.004 LLF] < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 < 0.0001 < 0.0001
10)11,1-2s00xFL > mg/Q 0.02 LLF] < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
1M|>R-1,2->HoO0xFL Y mg/Q 0.04 LIT| < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
12(1,1,1-p) o002 > mg/Q 1 LLFL< 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 < 0.0005 | < 0.0005
13|11,1,2-ry AT R Y mg/Q 0.006 LLF] < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 < 0.0001 < 0.0001
14|)H0QxTFLY mg/Q 0.03 LLF| < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
155|700 FLY mg/Q 0.01 LLF] < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 < 0.0005 | < 0.0005
16(1,3->Hrop7aRy mg/Q 0.002 LLTF] < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 < 0.0001 < 0.0001
17| mg/Q 0.01 LLIF| < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
18|L > mg/Q 0.01 LLF| < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
19 THEEEER mg/Q 10 UF 0.33 0.33 0.34 0.25 0.25 0.34
HIEEEEESR mg/Q < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
20|5 2% mg/Q 0.8 LIT]< 0.15 < 0.15 < 0.15 < 0.15 <0.15 <0.15
20|FS5% mg/Q 1 LUTF]<0.02 < 0.02 < 0.02 < 0.02 <0.02 <0.02
| FAFF U pg-TEQ/Q 1 UTF 0.039 — — — 0.039 0.039
| TFIAEY mg/Q - — < 0.0001 — < 0.0001 < 0.0001 < 0.0001
24T mg/Q - — < 0.001 — < 0.001 < 0.001 < 0.001
25 LY mg/Q - — < 0.001 — < 0.001 < 0.001 < 0.001
26(p H - 7.0 7.0 6.9 7.1 6.9 7.1
27|BOD mg/Q - — — — — — —
28|COD mg/Q - — — — — — —
29[(s s mg/Q - — - — - — -
KEX-ES mg/Q - — — — — — —
31|&YA mg/Q - — — — — — —
ﬁﬁm%’fﬂ"z mg/Q - 6.5 7.5 7.2 6.9 6.5 1.5
B EREEER #S/cm - 91 110 100 100 91 110

¥ BKEFISEALF-TEZREL. KEOKREMFEICIBIES 5710,
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#hTRKDKE

7—31

NO i s |BEIEE STy L

REEAE M 17 | M1 24 | M2 3.4 [ A 5.20 ] M21 71 | A 6.5 | i27 107 | 21 12 2

ENES =Y fEh [ BEn =) =1 =) BEn

FEERBEZI| 11:15 11:31 10:53 9:30 10: 11 11:48 10:40 12:45

58 °C 18 2.4 0.3 19.5 210 20,4 132 8.0 _
KE °C 838 9.0 9.2 9.8 8.9 9.5 9.6 9.6 R/ME | &KfE
BRE = > 30 =30 = 30 > 30 > 30 > 30 > 30 > 30

=% Fige) ®mE Figc) ®mE Fige) ®mE Figc) WER

25 R e |mE MmE |mE e |mE e

TGN me/t | 0.0 BF] - = = = = = = = = =
27y mg/Q ESET — — — — — — — — — —

3 [ meg/2 | 0.01 LIF| _—  [< 0.001 — [< 0001 [<o0001 J<o000l [<000i [<o00l | <000l | <000
3 e (i) X mg/Q 0.01 UTF - - - - - - - - - -
NEER meg/2 | 001 LIF| __—  [< 0.001 — [< 0001 [<0000 J<o00i [<000 [<o000i | <000l | <000
e am ~ mg/t | 001 LUF|  — = = = = = = = = =

5 [1kER mg/0 | 00005 LIF| = = = = = = = = = =

6 [KUIEILE 7 =)L (PCB) mg/2 TR = = = = = = = = = =
ICZEEEED, mg/t | 002 F|  — — — < 0001 — [< 0001 [<o0001 [<oo00l | <000l | <000
8 [mElEE mg/8 | 0.000 LF|  — - — < 0.0001 — < 0.0007 [< 0.0001 | < 0.0007 | <0.0001 | <0. 0001
9[.2->»onTsy me/0 | 0004 LF| = - — < 00001 — < 0.0001 [< 0.0001 | < 00001 | <0.0001 | <0. 0001
0[1, -9/ A0TF LY me/t | 002 UF| = - — < 0001 — [< 0001 [<0.00 [<o000l |<000 |<0 00
oxi29sam170y me/t | 004 LF| = - — < 0001 — [< 0001 [<o000i [<oo00l | <000l |<0o00i
12, ,1-Fys00Ta> mg/2 TuF| = - — < 0.0005 — < 0.0005 [ < 0.0005 | < 0.0005 | <0.0005 | <0.0005
131, 1,2-Fys0nT8 > me/0 | 0.006 LF| — - — < 00001 — [< 0.0001 [< 0.0001 | < 00001 | <0.0001 | <0 0001
NIYEEEEETD mg/t | 003 LUF| = - — [< 0001 — [< 0001 [<0.00 [<o000l |<000i |<0 00
5|7 FS500TFLY me/t | 001 LUF|  — - — < 00005 — < 0.0005 [ < 0.0005 | < 0.0005 | <0.0005 | <0.0005
BIESZEEEELY g/t | 0.002 F| = - — < 0.0001 — < 0.0001 [< 0.0001 | < 0.0001 | <0.0001 | <0. 0001
<oty mg/t | 001 LUF|  — — — < 0001 — [< 0001 [<o000i [<o0o00l | <0001 |<000i
BET me/t | 001 LUF| = - — < 0001 — [< 0001 [< o000 [<o000l | <000 |<0 00
1o |BEATEE R me/2 10 B —— — = 0.9 = 10 22 15 0.95 2.2
N = mg/2 - - — <0005 — [< 0005 [<0005 <0005 | <0005 |<0005
0| 5% me/2 0.8 UF| - — — <015 — <015 [<oi5 <015 [<oi5 <015
EEES mg/2 T F[< 002 [<002 |<002 [<o002 |<002 [<002 <002 [<002 <002 |<0.02
s bg-TEQ/2 1T LF| - — — 0.045 — 0. 043 0.048 0. 047 0.043 0. 048
B[TFLAS LY ) - = = = — — [< 0.0001 — < 0.0007 | <0.0001 | <0.0001
D mg/2 = = — = - — < 0001 — <0001 [ <0001 |<0.00i
BlEILo mg/0 - = = = - — [< 0.00i — < 0.001 [ <0001 |<0.00i
26| H = 62 62 6.1 50 6.0 6.0 6.1 61 5 62
27[BOD e/ = — — — — — — — — - —
28[CoD e/t = - - - - - - - - - -
29[S s mg/2 = - - - - - - - - - -
R EXES mg/Q - — — — — — — — — — —
320 A mg/2 = - - - - - - - - - -
BREEE mg/2 = 55 56 54 5.0 51 5.0 62 55 5 62
B EREEE 2S/cm = 100 110 % 99 99 100 140 120 % 140

¥ BKEFIEALE-TEZREL. KEOKREMFEITIBET 2120, AT T 18— (FZ0.45um) THBLEERDHRISDVNTHTEERE.
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-3
o Hek KEE
No ® H i 2 1R L
REEAD W7.520 ] H21.85 | A21.10.7 | W21.12.2
KIg B 5 =) En
IRERREZ 11:00 10:04 11:50 10:45
2 °C 245 21,0 15.8 9.8 - _
K C 1.7 16.2 16.5 1.4 BME | BAE
BEE B K 20 13 15
=RiE] =tef High IR =
2R RIER AR RIER AR
1[HFEoL me/8 0.1 0T = < 0,001 = < 0.001 | <0.001 | <0.001
7 7> mg/8 | 1 LT - < 0.0 = <00l | <001 [<oo01
BIER me /9 01 LF] 0002 0.003 | < 0.001 [< 0001 | <o.001 0.003
S me /9 0.1 LIF]< 0,001 |< 0001 [< 0001 J<0001 |<0001 |<0 001
HEE mg/%_ | 0.005 LT = < 0.0005 = < 0.0005 | <0.0005 | <0.0005
6 [KUBBILE 7 = =JL (PCB) me/% 10003 LIF = < 0.0005 = < 0.0005 | <0.0005 | <0.0005
ACZEEE Y me /9 0.2 LIF| 0004 0.002 0.005 0.004 0.002 0.005
8 |mEibEE mg/8 | 002 LIT|< 0.0001 | < 0.0001 [ < 00001 | < 0.0001 | <0.0001 | <0. 0001
NISCEEEE D) meg/% | 004 LIF] 0011 0.011 0.0084 | 0.011 0.0084 | _0.011
0[1,1->s00TF LY me /9 0.2 LIF]< 0,001 |< 0001 [< 0001 J<o0001 <0001 |<0. 001
Nox12os00TF0y me/9 0.4 LIF]< 0,001 |< 0001 |<0001 J<0001 |<0001 |<0 001
AP D) /8 3 LT | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | <0.0005 | <0.0005
B1.2-Fys00TR> mg/% | 0.06 LIT|< 0.0001 | < 0.0001 < 00001 | < 0.0001 | <0.0001 | <0. 0001
NIYEEEEE I, me/9 0.3 LIF]< 0,001 |< 0001 <0001 J<0001 | <0001 |<0. 001
5|7 52 00TFLY me/8 0.1 LT ] < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | <0.0005 | <0.0005
6)1,3->s00J0~> mg/% | 0.02 LI | < 0.0001 | < 0.0001 < 0.0001 | < 0.0001 | <0.0001 | <0.0001
T[~oto me/0 0.1 UF| 02 027 0.23 026 0.23 027
18leL> me/0 0.1 LIF]< 0,001 |< 0001 <0001 J<0001 |<0001 |<0. 001
eSS me/0 1o T lK002 <00 [<o0 [<o002 |<002 | <00
ERREER me/9 < 0.005 |< 0005 |< 0005 |< 0005 |<0005 | <0005
0[5 o% me/0 8 L] 0.5/ 0.42 0.56 0. 41 0.41 0.57
A|FE5% me/9 0 WF| 19 79 19 79 19 79
R|FAFEL B pe-TEQ/Z| 10 LIF| 20 0.012 0.012 0.0086 | 0.0086 | 2.0
BlIFARC B ) - 31 4.0 2.0 3.8 2.0 4.0
IS me/0 = 57 5.3 4.2 5.3 4.2 5.7
HET, ) = 10 1.6 0.85 1.3 0.85 1.6
26| p H = 7.2 7.1 7.3 7.3 7.1 7.3
27|BOD me/8 = 1400 730 910 1100 730 1400
28|COD /8 = 610 440 590 560 440 610
2[ss me/9 = 53 70 89 24 2 89
IS me/0 = 270 220 290 240 220 290
BIEY me/9 = 22 19 22 77 19 77
AT EED me/0 - 1900 1500 2200 1700 1500 2200
3 ERicEE 11S/om = 9800 9200 13000 11000 9200 13000




(4) EKEERAHTK

7—8
HTKDKE 8ok
NO B g s |EBcmLE ﬁ%*”@@
e o. 12HF

HEEAE 21 520 | 121 8.5 | 21107 | A1 12,2
ENES B =l =Y BEn
FEERBEZI| 10:35 12:12 11:13 10:10
£ °C 2.5 22.3 20,0 7.2 _ _
KiE C 2.0 2.4 21 3.7 BME | BAME
BRE E 17 > 30 > 30 > 30
=% B S S XS]
25 AR AIER AR BER
TGN me/f_ | 0.01 BF]_ — < 0001 — <000 | <0000 <0000
17> me/2 TR — <00 — [<o0o0i [<o0ol [<oo0i
3 8 mg/2 | 001 LF| 0001 [< 0007 |< 0001 [<0007 | <000 |<o0.00i
3 s (B mg/2 | 001 LIF|< 0001 — - — 20,001 | < 0.001
NEER mg/2 | 0.01 LIF| 0.004 0. 008 0.003 0017 | 0.003 0013
e am ~ mg/2 | 001 LIF| 0.003 0. 006 0.001 0.008 | <0001 |< 0.008
5 [1KER me/2_ [0.0005 LIF| _ — < 0.0005 — < 0.0005 | <0.0006 | < 0.0005
6 [ IEILE 7 =)L (PCB) mg/2 TR — < 00005 — < 0.0005 | <0.0005 | < 00005
G mg/2 | 0.02 LIF| 0.002 0. 001 0.001 0.002 0.001 0. 002
N me/2 | 0.002 LIF| __—  [< 0.0001 — < 0.0001 | <0.0001 [ < 00001
IS EEEE D) mg/? | 0.004 LIF| 00025 | 00018 | 00017 ] 0005 | 000i5] 0002
0], 1-os00TF LY me/% | 002 LiF|< 0001 [<o0001 |<000i [<o0001 | <000l |<o0.00i
Moxi2osa0T70y mg/% | 004 LIF|< 0.001 [< 0001 <0001 [<0001 | <000l |<o0.00i
211, 1-FJs0nTsy me/t T F | = < 00005 — < 0.0005 | <0.0005 | < 00005
131, 1,2-FUs00Ta> mg/2 | 0.006 LIF| _—  [< 0.0001 — < 0.0001 | <0.0001 |< 0.0001
NIYEEEEETD, me/t | 0.03 LIF| _—  |< 0.001 — <0001 [ <0001 [<0.00i
HEXELEEE I, mg/2 | 001 LIF|< 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | <0.0005 | < 0.0005
BIESZEEEELS mg/2 | 0.000 k| — < 0 0001 — < 0.0001 | <0.0001 [< 00001
<€ mg/t | 001 LF| 0067 | 0049 | 0039 | 0039 | 0039 | 0067
8lzL> me/t | 0.00 LIF| _ — < 0.001 —  [<o0.001 [<0001 |<0.00i
NS mg/2 0 ot l— <00 — <002 [<o00 |<o002

ERBEER mg/2 — < 0.005 — <0005 | <0005 | <0005
W[ >-% mg/2 0.8 LIF| - 0.16 - 0.17 0.16 0.17
IEEES me/2 T UF| 7.8 7.6 22 7.8 7.6 22
N pg-TEQ/2 T LR — 0.049 — 0.043 0.043 0. 049
B[TFLAS LY me/8 = = 0.092 - 0. 049 0.049 0. 002
T NED; mg/2 = - 0.005 - 0.004 | 0.004 0. 005
BlEL L me/8 = = 0.63 - 0.55 0.55 0.63
26| H = 5.7 6.9 58 6.9 6.7 6.9
27[B0D e/t = — — - — - —
28[COD mg/2 = - - - - - -
29]s s me/t = - - - - - -
EEES me/2 = - - - - - -
32 YA me/t = - - - - - -
52[EiLm £ > mg/2 = 900 1700 790 1700 790 1700
B BREEE 1£S/cm = 3800 5700 4700 5600 3800 5700

X RKEFISEALETEZREL. KEORREMFEICIRIET 56, AT T4)L8— (FZ0.45um) THBLIEDA K
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T KDKE e
NO 15 gy |EBcmLE &
REE

HEEAD W27 24 |21 520 | 2T 7.1 | M21.8.5 | 21107 | A1 12.2
Kz En B £Y 53] £Y £Y
R 11:28 T1:19 1021 137 1011 1144
5 °C 0.3 238 202 213 16.2 9.6 -
KB °c 10.7 10.8 10.7 0.7 0.7 10.7 BME | BAE
BRE B > 30 > 30 > 30 = 30 > 30 = 30
&1 wE wE wE wE wE BREE
25 ] |R ] | | |E
HETSEGIA me/0 0.01 BF]_ — - - - - - = =
2 o7 me/0 FRH — = — = = — — =
3 8 me/0 0.0 LIF| - = - = = = - =
3 [t (BR) me/0 0.01 LF| - = = = = = = =
S me/Q 0.0l LF| - = - = = = - =
7 [hE BB me/Q 0.01 LF| - = = = = = = =
5 [#7kaE me/8 ] 0.0005 LIF|  — = - = = = - =
6 | IEILE 7 = =)L (PCB) me/0 FRH — = — = = — — =
ACZEREEE me/0 0.02 LT[ 0003 0.003 0,004 0.004 0.003 0,003 0,003 0,004
T mg/8 | 0.002 LI | < 0.0001 [< 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | <0.0001 | < 0.0001
9[1.2->snATiy me/0 | 0004 L] 00002 | 00002 | 00003 | 00002 | 00002 00002 | 00002] 00003
0, -o/00TF Ly me/Q 0.02 LT[ 0013 0.012 0.019 | < 0.001 0.017 0.015 | <o0.001 0.019
M[ox1.295002F7 0> me/0 0.04 LT[ 0001 0. 001 0.001 [ < 0.001 0. 001 0.001 | <0.001 0. 001
AN YPEEELD; me/Q 1 L] 0054 0.053 0.075 0.058 0.074 0.063 0.053 0.075
BN AYPEEELP; me/0 | 0,006 LT | < 0.0001 [< 0.0001 | < 0.0001 [ < 0.0001 | < 0.0001 | < 0.0001 | <0.0001 | < 0.0001
NIYEEEEETP, me/Q 0.03 LT[ 0002 0.002 0.003 0.002 0.002 0.002 0.002 0.003
5|7 FS/00TF LY me/0 0.01 L] 0.005 | 00049 | 00071 | 00060 | 00069 | 00069 | 00049 | 0. 0071
16[1,3-S/0070~> mg/8 | 0.002 LI | < 0.0001 [< 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | <0.0001 | < 0.0001
T[~obt> me/0 0.01 LF|< 0001 [< 0001 J<0001 [<0001 [<0001 |<o000i |<oo00i 0. 001
18l me/Q 0.01 UF| - — = — — = = —

HEBHER mg/Q . — — — — — — — —
WEr=3 me/2 10 BT —— = = = = = = =
0[5 -% me/Q 0.8 IF| - = = = = = - =
N(F>% me/Q TR — = = = = = = =
N pe-TEQ/Q S = = = = = = - =
BTFLA B me/0 = < 0.0001 | 0.0001 | < 0.0001 [< 0.0001 [< 0.0001 | 0.0005 | <0.0001 | 0.0005
I me/0 = 20001 [< 0001 J<0.001 [<000 <000 |<o000 |<o0.00i 0. 001
BlEoL me/0 = < 0.001 [< 0001 J<o0001 |<o0001 <000 |<o000 |<o0o00i 0. 001
26 p H = 5.9 5 8 5.7 57 58 5.9 5.7 59
27[BoD mg/0 = = — = — — - = —
28|ss me/0 = = = = = = = = =
29]coD me/Q = = = = = = = = =
B, me/Q = = = = = = = = =
3|2V A me/Q = = = = = = = = =
HRE D me/0 = 280 350 290 300 290 320 280 350
33 ESEEE 4 S/on = X X X X X X X X
X BRIGERR UM TKEICOVWTEREREER,




7-26 727
HTRKDKE B B
NO ® B s |EBCELE RE—2 RE—3
B
RESAH H21.5.20 H21.8.5 H21.10.7 | H21.12.2 H21.5.20 H21.8.5 H21.10.7 | H21.12.2
I B = 20 EY) Wi = EY) 5y
REEEZI 10:24 10:13 9:55 11:24 10:09 9:50 9:34 10:56
=5 3
: ) o | e R ] o |
BIRE 3 = 30 = 30 = 30 = 30 = 30 = 30 = 30 = 30
18 wE wE wE e wE ®E mE | BEE
85 ma ma mB ma FHe | mene | menEe | ®a
BRI me/t | 001 BF] - - = - - - - - - - - -
o7 e/t | RRH = = = = = = = = = = = =
3@ me/t | 001 BF|  — = - = - = - = - = - =
T 5 B e/t | o0r mF] = = = = = = = = = = = =
RS me/t | 0.01 UF|  — = = = - = - = - = = =
4itFE AR mg/Q 0.01 LIF — — = - — — = — — — — —
5 |#askER mg/Q 0.0005 LITF — — — — — — — — — — — —
6 [RUBEET =L P8 | met | *mm = = = = = = = = = = = =
AP A=1=0.X ] mg/Q 0.02 LLF | < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
8 |miEkik®= mg/Q 0.002 LLF] < 0.0001 | < 0.0001 | < 0.0001 J < 0.0001 < 0.0001 | < 0.0001 §< 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 < 0.0001 | < 0.0001
9|1,2-ynpxI4ay mg/Q 0.004 LI | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 < 0.0001 | < 0.0001 §< 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 < 0.0001 | < 0.0001
101, 1-90TFL > mg/Q 0.02 LR < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
1M|v&R-1,2-HoaTFLYy mg/Q 0.04 LLF | < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
122(1,1,1-pFyoooxTa2 > mg/Q 1 LLTF] < 0.0005 | < 0.0005 J < 0.0005 | < 0.0005 ] <0.0005 J < 0.0005 < 0.0005 < 0.0005 1< 0.0005 1< 0.0005 [ <0.0005 | < 0.0005
13[1,1,2-r) 0BT R Y mg/Q 0.006 LA | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 < 0.0001 | < 0.0001 § < 0.0001 0.0001 0. 0003 0.0002 | < 0.0001 0. 0003
M4l o0 FLY mg/Q 0.03 LLF| < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
155|788 FLY mg/Q 0.01 LLF]< 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | <0.0005 | < 0.0005 < 0.0005 | < 0.0005 J < 0.0005 | < 0.0005 | <0.0005 | < 0.0005
16{1,3->onon7aoRy mg/Q 0.002 LA | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 < 0.0001 | < 0.0001 §< 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 < 0.0001 | < 0.0001
17|RVEY mg/Q 0.01 LLF | < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.002 < 0.001 < 0.001 < 0.001 < 0.001 0.002
18|EL > mg/Q 0.01 LI F — — — — — — — — — — — —
WEEEE ng/2 ) = = = = = = = = = = = =
METrEEs mg/2 10 8T —= = = = = = = = = = = =
20|50 FE mg/Q 0.8 LITF — — — — — — — — — — — —
EEE: me/0 S = = = = = = = = = = =
ALEE e pe-TEQ/L N = = = = = = = = = = =
| ZTFILRUEY mg/Q - 0.0002 | < 0.0001 0.0002 | < 0.0001 < 0.0001 0. 0002 0.33 0.20 0.19 0.25 0.19 0.33
24 b mg/Q - < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0. 050 0.004 0.002 0.003 0.002 0.05
25F2 LY mg/Q - < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.12 0.068 0.063 0.080 0.063 0.12
26| p H - 6.3 6.4 6.3 6.3 6.3 6.4 6.5 6.6 6.9 6.8 6.5 6.9
27|BOD mg/Q - — — — — — — — — — — — —
28|S s mg/Q - — — — — — — — — — — — —
29|coD mg/Q - — — — — — — — — — — — —
IEEES ne/0 - - - - - - - - - - - - -
312U A ne/2 - - - - - - - - - -
32 | BiemA 4> mg/Q - 8.8 8.3 8.7 9.0 8.3 9 46 20 20 20 20 46
B|EEEEE 2 S/cm - % % % % % % % % % % % %
X BREEEROE KR OV R B & =5

21




— 73 i
NO i B B |BEICRLR - -
R

REEAD 27520 | A21. 8.5 | A21. 107 | F2T. 12.2 27520 | A21. 8.5 | A2T. 107 | F2T. 12.2
%z Eh_ | =V £y U Eh_ | =V U U
R 9:27 9:03 9.0 10:28 9:46 9:24 9:20 10:44
5= C 22.0 231 15,1 6.5 o _ 221 213 15.8 8.2 - _
K C 0.9 10.9 0.9 10.9 BME | BAE 1.9 17.9 1.9 11.9 BME | BAE
BEE = > 30 > 30 > 30 = 30 > 30 > 30 = 30 = 30
=RiE] e g2 Ei3s Eis) i) Eis) WER WERB
25 |R ] | |E RIER WiRER | AR (D
HEESEGIA me/0 0.01 Ur] - = = = = = = = = = = =
2 o7 me/0 TRH = — = — = — = — = — = —
3% me/0 0.0l UF| = = = = = = = = = = = =
3 8 (BR) me/0 0.0l UF| — — = — = — = — = — = —
4 |E me/0 0.01l UF| — — — — — — — — — — — —
1 [it®E (HR) me/0 0.0l UF| — — = — = — = — = — = —
5 (kiR me/0 [0.0005 L]  — = = = = = = = = = = =
6 [\ IEILE 7 = =)L (PCB) me/0 TRH = — = — = — = — = — = —
ACZEEEY me/9 0.02 i< 0,001 |< 0001 |< 0001 |<0001 | <0001 |<0.001 0. 001 0,001 0. 001 0,001 0. 001 0,001
8 |mElRE me/8 | 0002 LIT[< 0.0001 | < 0.0001 < 0.0001 | < 0.0001 | <0.0001 | < 0.0001 < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | <0.0001 | < 0.0001
NIV EEEED me/0 | 0,004 LIT[< 0.0001 | < 0.0001 [< 0.0001 | < 0.0001 | <0.0001 | < 0.0001 | 0.0007 | ©0.0006 | ©0.0007 | ©0.0005 | 0.0005 | 0.0007
0[l.-os00TFLY me/0 0.02 LI |< 0.001 <0001 [< 0001 [<0001 |<0001 |<0001 J<0001 |<0001 [<0001 |<o0.001 |<o0 001 0.001
[s21.2-5s00TF LY me/0 0.04 LIT| 0001 0.002 0. 001 0.002 0. 001 0.002 0.001 | < 0.001 [<0.001 <0001 |<0.00i 0,001
AP D) me/0 1T LI | < 0.0005 | < 0.0005 [ < 0.0005 | < 0.0005 | <0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | <0.0005 | < 0.0005
HINNAYPEEEE D) me/0 | 0,006 LI [ < 0.0001 | < 0.0001 [< 0.0001 | < 0.0001 | <0.0001 | < 0.0001 | 0.0003 | ©0.0002 | ©0.0005 | ©0.0003 | 0.0002 | 0.0005
NIYEEEES Y, me/0 0.03 LI |< 0.001 [< 0001 [< 0001 [<0001 [<0001 |<0001 J<0001 |<0001 [<0001 J<o0.001 |<o0001 0.001
57 FS5200TFLY me/9 0.01 L] 00048 | 00041 | 00038 | 00050 | 00038 | 0005 J< 00005 |< 0.0005 |< 0.0005 | < 0.0005 | <0.0005 | < 0.0005
16[1,3->/0070~> me/8 | 0.002 LI [ < 0.0001 | < 0.0001 [ < 0.0001 | < 0.0001 | <0.0001 | < 0.0001 < 0.0001 J < 0.0001 | < 0.0001 | < 0.0001 | <0.0001 | < 0.0001
T[~ot> me/0 0.01 LIF]< 0,001 |< 0001 |< 0001 J<0001 | <000 |<o0. 001 0.003 0.004 0. 004 0.003 0.003 0.004
18l me/0 0.0l UT| — = — = — = — = — = — =

HBEER mg/9 R — — = — — - — — — — — —
NEET ne /0 10 AT —— = = = = = = = = = = =
W0[5-% me/0 08 UF| = = = = = = = = = = = =
AIEEES me/0 TUF| - — = — = — = — = — = —
ACEEE DD pe-TEQ/2 TUF| - — — — — — — — — — — —
BlTFLAC B me/0 = < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | <0.0001 | < 0.0001 | 0.012 0.014 0.014 0.015 0.012 0.015
e me/0 = 0,001 |< 0001 [<o0001 J<o000i |<000f [<o0 001 0.002_ | < 0.001 0. 001 0.002 | <0.001 0.002
BlxroLo me/0 = < 0.001 J< 0001 J<o0o001 J<oo00r |<oo001 [<o0 o001 0.002 0.003 0.003 0.003 0.002 0.003
26]p H 58 5.9 59 5.9 58 5.9 6.4 6.4 6.4 6.5 6.4 6.5
27[BoD me/0 - — = — = — = — = — = — =
%[ss me/0 = = = = = = = = = = = = =
29]cop me/0 - = = = = = = = = = = = =
IS me/0 = = = = = = = = = = = = =
32V A me/0 - = = = = = = = = = = = =
52| itA + > me/0 = 110 120 120 120 110 120 710 730 760 790 710 790
33| BEEEE 1 S/om = X X X X X X X X X X X X

X BREEERUE FKEIZOL T BB ER




T KDKE [T
NO i B B |BEICRLR -
R

REEAN W7 24 | W21 520 | W21 7.1 | W21 85 | W21 107 | W21 12.2
% B ih | 2V m 2Y U
R 11:02 17:03 9. 41 9:53 10:33 1155
5= °C 0.3 262 20.0 210 18.8 8.0 - _
K C 1.0 7.0 1.0 7.0 1.0 1.0 BME | BAE
BEE B > 30 > 30 > 30 > 30 = 30 = 30
=RiE] ) Eis) | Fid2) e i3]
CT mR | me | ms | ms | mm | ms
HEEEGIN me/Q 0.0l BIF| — - - - - - = =
AT ne/t | AEH = = = = = = = =
3% me/Q 0.0l F| - = = = = = = -
3 [ (BB me/Q 0.0l F] - = = = = = = =
4 [it® me/Q 0.0l | - = = = = = = -
4 [E (BB me/Q 0.0l F] - = = = = = = =
5 [#KER me/8 | 0.0005 L] — = = = = = = =
6 [ IEILE 7 =L (PCB) me/0 TRH = — = — = — = —
ACZEEE Y me/9 0.02 IF|< 0001 |< 0001 |< 0001 |<0001 |<0001 |<0001 |<0001 |<oo00i
B e mg/2 | 0.002 LI |< 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | <0.0001 |< 0.0001
NIV EEEED me/0 | 0004 LIT[< 0.0001 | < 0.0001 [< 0.0001 | < 0.0001 [ < 0.0001 | < 0.0001 | <0.0001 | < 0.0001
0[l.-os00TFLY /2 0.02 LT [< 0.001 [< 0001 [< 0001 |<0001 [<0001 J<o001 |<0001 |<o0 o001
N[ox12os00TF0y me/0 0.04 LITF[< 0.001 [< 0001 [< 0001 [<0001 [<0001 |<o0001 |<0001 |<o0 o001
AP D) me/0 1T LI | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 [ < 0.0005 | < 0.0005 | <0.0005 | < 0.0005
B[ ,-rys00Ta> me/0 | 0006 LIT [ < 0.0001 | < 0.0001 [< 0.0001 | < 0.0001 [ < 0.0001 | < 0.0001 | <0.0001 | < 0.0001
NIYEEEES Y, me/0 0.03 LI [< 0.001 [< 0001 [< 0001 |<0001 [<0001 J<o0o001 |<0001 |<o0. o001
57 FS200TFLY me/9 0.01 LT ] < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005 | < 0.0005
6]1,3->s00J0~> me/8 | 0.002 LI [ < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | <0.0001 | < 0.0001
T[~oto me/9 0.01 LIF]< 0,001 |< 0001 |< 0001 |<0001 |<0001 |<0001 |<000 | <0001
BlEL> me/0 0.0l F] - = = = = = = =

EEMESR mg/Q . — = - - — — — —
NErEs ng/0 10 BT —— = = = = = = =
W0[3-% me/Q 0.8 UF] - = = - = = = -
AIEEES me/Q TOF| — = = = = = = =
N pe-TEQ/Q TuF| — = = - = = = -
BlTFLA B me/4 - < 0.0001 | 0.0003 [ < 0.0001 | < 0.0001 | < 0.0001 | < 0.0001 | <0.0001 | 0.0003
e me/0 = 0001 J< 0001 J<o0001 [<0.001 [<0001 |<000 |<000 |<0.00i
BlxroLo me/0 = < 0.001 |< 0000 |< 0001 J<0001 [<o0000 [<0001 0. 001 0.001
26]p H 6.7 6.8 6.8 6.7 6.7 6.8 6.7 6.8
27[BoD me/0 - — = — = — - — =
28ss me/0 = = = = = = = = =
29]cop me/0 - = = = = = = = =
eSS me/0 = = = = = = = = =
32 YA me/0 - = = = = = = =
52| &A1 A4~ me /9 - 56 35 30 18 12 9.5 9.5 35
BESEEE 1 S/om = X X X X X X X X

X BRIEERRUHTKEZIZ DV TEREY

REEhk.
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2 BEARJEEYEET=SY VJHAEHKR

e BEEER it AR R iR AIR R - .
Noj HE Bfig A-1 = A-1b A-1c iﬁtigé
WEEAR H21.1 21| H21.5.26 | H21.7.30] H21.10.21 | H21.1.21] H21.5. 26 | H21. 7. 30 [H21. 10. 21| H21. 1. 21 | H21.5. 26 | H21. 7. 30 |H21. 10. 21 :
[Rot> mg/m’_|_0.0013 | 0.00018 | 0.00065 | 0.00049 | 0.0010 | 0.00016 | 0.00022 | 0.00045 | 0.0014 | 0.00019 | 0.00014 | 0.00036 |0.003LLT
AIYEEEEE DY, mg/m’_| <0.0002 | 0.00081 | 0.0011 | <0.00059 | <0.0002 | <0.00030] <0.00029 | <0.00059 | <0.0002 | <0.00030 | <0.00029 | <0.00059 [0.2 LI
3[7F5200TF L] mg/m_|<0.0002 | 0.00038 | 0.0016 | 00015 | <0.0002 | <0.00023| 0.00042 | <0.00016 | <0.0002 | <0.00023[<0.00018 [ <0.00016[0.2 LI F
NEZEEEEY mg/m’_] 0.00040 | 0.00058 | 0.0077 | 0.0011__| 0.00068 | 0.00044 | 0.00089 | <0.00020| 0.00028 | 0.00036 | 0.00047 | <0.00020[0.15 LA
X RUEVHFIZKDRRDFLICRIRERELFER,
3 KEEEMEE=A) VJREHKER
RAEEA THEEA — 2
AT B H21.1 17~1.23 H21.5 27~6.2 H21.7.28~8.2 H21.10. 21~10. 27 —
B¥HE| ma |/BEHE| @s | B¥HE | @s |BFHE| @s e
(ppm) TEE (ppm) TEE (ppm) TEE (ppm) TEE
EE 0. 001 ) 0. 002 ) 0. 001 O 0. 001 O
— 28 E 0. 002 ) 0.003 ) 0.003 O 0. 001 O
& = 0. 001 ) 0. 001 ) 0. 002 O 0.001 O liao®miEs0. 04
it =E 0. 002 ) 0. 000 ) 0.003 O 0. 002 O |~0.06ppmd vy —>
= 58 B 0. 005 0O 0. 001 0O 0. 002 0 0. 002 O |AXEENAUT
* 68 B 0. 005 ) 0. 000 ) 0. 002 O 0.003 0
IEE 0. 004 ) 0. 001 0 0.004 O 0. 001 O
RAERA THEEA — 2
AR H21.1 17~1.23 H21.5 27~6.2 H21.7.28~8. 2 H21.10. 21~10. 27 —
1BTwiE] me | 1ERE | me | 1BTHE | me | mmEE | ams [1BTeE] me | wmE | me [1BTwE] me | mmEE | as e
(g/m’) | FTBEE | (mg/m’) | T#EE (mg/m°) TEE | mgm’) | TBE | mgm’) | FBE | mgm’) | FEE | mgm’) | TEE | mg/m’) | TBE
- EE 0. 009 O 0.028 O 0.017 ) 0.025 ) 0.014 ) 0.037 ) 0.015 [®) 0.025 O |ipewmEn
e 28 B 0.017 O 0.039 O 0. 024 ) 0.038 ) 0.028 ) 0.083 ) 0.011 0 0.020 [®) 0. Img/n’
s = 0.018 ) 0. 052 ) 0.010 ) 0.020 ) 0.010 ) 0.017 0 0.014 [®) 0. 024 0 RS
F = 0.018 O 0. 047 O 0.007 ) 0.018 ) 0.017 ) 0.026 ) 0.019 ) 0.027 [®)
Ik 5HE 0.018 0 0. 058 0 0. 008 0 0.016 0 0.020 0 0. 041 0O 0. 020 0 0.035 [®) 1B A
i 68 B 0.012 O 0.034 O 0.011 ) 0.020 ) 0.014 ) 0.025 ) 0.020 ) 0.027 [®) 0. 2mg/m’
& TEE 0.012 O 0.035 O 0.019 0 0. 036 ) 0.014 0 0.024 [®) 0.018 0 0.042 0 LT
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4 BERPT=-42YVIJTRAERER
(1) &S HFHE (A-4)ISONWTIEEMAEENREICEY ., 7AAERNIGHRAZHBEH L TLET FI200mEAIN) ,
—_—_ X Bt X B ¥ i X I
A—2 A—3 A—4 (dB)
B B H21.1.21 | H21.5.26 | H21.7.30 [H21.10. 21| H21. 1. 21 | H21.5.26 [ H21.7.30 [H21. 10. 21| H21. 1. 21 | H21.5. 26 | H21.7.30 [H21.10.21]  RFd
B (R 6:00~22:00 6:00~22:00 6:00~22:00 (68 ~2215)
BIERER (LAeq) *? 60 | 62 [ 63 62 62 | 6 | 61 | 63 69 | 6 | 68 | 68 10T
X1 REEEQ NERICEY SMEOREREE] ORIRREEESERICEET SEREER.
X2 LAeqldFMEZT LA,
(2) iRE
, 4B B3 X A F i X _
I TE 2 Ao A3 A_a EIERREX
(dB)
BI%E B H21.1.21 | H21.5.26 | H21.7.30 [H21.10. 21| H21. 1. 21 | H21.5. 26 | H21.7.30 [H21.10. 21| H21.1. 21 | H21.5.26 | H21.7.30 [H21.10. 21
qqegye | BE | SORE | SORH | SORE | S0AH 36 34 33 305 i 50 49 36 36 65
wA e | 30k | 30k | 30k | 30k | 0Kkm | S0k | 32 | 3okm | 4 41 30 30 60
X1 EFRRER NEBXBERIOERFRE] OF 1 BREZER.
X2 RERRESNL L COLIRE (L) OFHIE,
3 RR (BEF~198F) . R (6BF~ 8K UM10BF~228%) .
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1 2 HKALER i 25 ALK

AEEARA H21.5. 20 H21.8.5 H21.10.7 H21.12.2

No| B B g |stELRKE| BHK Bk Rk =K RK TURIK RHIK Rk Rk IEHIK RK TURIK
xi& bh wh h &Y £Y EY) B B h h Hh Eh
RERES %I 13:58 13:40 13:10 13:50 13:30 13:05 13:50 13:30 13:08 14:00 13:50 13:08
£ °c 18.8 18.4 22.4 22.6 23.6 24.0 17.0 19.0 21.5 1.0 14.5 16.5
KR °c 12.8 19.2 19.8 16.2 23.0 25.0 15.5 18.0 21.5 10.5 8.5 16.5
HEEES g/ 0.1 UF — <0.01 <0.01 — <0.01 <0.01 — <0.01 <0.01 — <0.01 <0.01
2lv7y mg/2 1 UF — <0.1 <0.1 — <0.1 <0.1 — <0.1 <0.1 — <0.1 <0.1
3 | mg/0 1 UF — <0.1 <0.1 — <0.1 <0.1 — <0.1 <0.1 — <0.1 <0.1
4 [sn g/ 0.1 UF — <0.01 <0.01 — <0.01 <0.01 — <0.01 <0.01 — <0.01 <0.01
5 | &Ml o4 g/ 0.5 UF — <0.05 <0.05 — <0.05 <0.05 — <0.05 <0.05 — <0.05 <0.05
6 [at% g/ 0.1 UF — <0.01 <0.01 — <0.01 <0.01 — <0.01 <0.01 — <0.01 <0.01
7 [rasksr mg/2 | 0.005 LT — <0.0005 <0.0005 — < 0.0005 < 0.0005 — <0.0005 < 0.0005 — < 0.0005 < 0.0005
8 [7 L% LokeR mg/0 TR — TR TR — TR TR — TR TR — TR TR
9 [# kL E 7 = =)L (PCB) mg/2 | 0.003 LT — <0.0005 <0.0005 — < 0.0005 < 0.0005 — <0.0005 < 0.0005 — < 0.0005 < 0.0005
10[rysoozFLy me/0 0.3 LT[ <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
HETECEEEE T me/0 0.1 wF| <o0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
2lcrooray g/ 0.2 T[] <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
13|migib xR g/ 0.02 | <o0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
NIEEZLEEEY D me/0 0.04 | <o0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004
151, 1-vyoaIFLY me/0 0.2 T[] <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
16[v2-1.2-vyonTFLY me/0 0.4 | <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04
17)1,1,1-FysaRTEY me/0 3 uF| <03 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3
18[1,1,2-FysonTEY me/0 0.06 | <0.006 <0.006 <0.006 <0.006 <0.006 <0.006 <0.006 <0.006 <0.006 <0.006 < 0.006 <0.006
19[1,3-vsooFnRy me/0 0.02 UF| <o0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
20]FH35 L g/ 0.06 | <0.006 <0.006 <0.006 <0.006 <0.006 <0.006 <0.006 <0.006 <0.006 < 0.006 <0.006 <0.006
2]v=oy g/ 0.03 | <o0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
2|FARLALT me/0 0.2 LT[ <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
BlRoEy g/ 0.1 LT[ <o0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
uleLy me/0 0.1 LT — <0.01 <0.01 — <0.01 <0.01 — <0.01 <0.01 — <0.01 <0.01
%5|E>5% mg/0 10 UF — 1.1 1.0 — 1.1 1.0 — 1.2 1.2 — 1.7 1.1
2%|5-% mg/0 8 LT — 0.6 0.5 — 0.7 0.7 — 0.6 0.5 — 0.6 0.5

727, TUESIMER g/ — 15 <0.1 — 8.5 0.1 — 5.7 <0.1 — 53 <0.1
27| ERERIL A g/ 100 LT — 1.6 <0.1 — 1.1 <0.1 — 1.3 <0.1 — 0.2 <0.1

R AN g/ — 1 0.6 — 5.8 0.8 — 8.3 1.6 — 1.2 4.6
28[p H 6.0~8.0 8.0 8.0 6.7 8.0 7.8 7.0 8.0 8.2 7.1 7.8 8.2 6.7
29|BoD me/0 60 UF| 19 17 <0.5 9.5 6.9 <0.5 22 29 <0.5 37 2 <0.5
30|cob me/0 90 UF| 78 45 16 74 46 12 69 49 15 130 86 25
3|ss me/0 10 uF| 35 16 <1 22 37 <1 38 43 <1 64 16 <1
32|/ E (Shi) mg/0 5 LT — <0.5 <0.5 — <0.5 <0.5 — <0.5 <0.5 — <0.5 <0.5
33| mEmE (B | me/o 30 LIF — <0.5 <0.5 — <0.5 <0.5 — <0.5 <0.5 — <0.5 <0.5
M7/ —IE mg/2 5 LT - <0.5 <0.5 - <0.5 <0.5 - <0.5 <0.5 - <0.5 <0.5
35 (4R mg/2 3 UTF - <0.02 0.06 - <0.02 0.07 - <0.02 0.04 - <0.02 0.05
36 | R mg/2 5 UTF - 0.02 0.01 - 0.02 0.01 - 0.03 0.02 - 0.03 0.02
37 [FAfEEsk mg/2 10 T - 0.03 0.02 - 0.03 <0.02 - 0.1 0.02 - 0.27 0.04
3BT H Y mg/2 10 T - 1.2 0.1 - 0.38 0.27 - 2.0 0.14 - 4.2 0.11
Kl E7A=PN mg/2 2 UTF - <0.02 <0.02 - <0.02 <0.02 - <0.02 <0.02 - <0.02 <0.02
40 [ KIZE B3 &/cn’ 3000 LLF - 0 0 - 480 0 - 440 0 - 570 0
ANEES mg/2 60 LT 68 30 1.9 63 19 2.2 91 28 3.9 86 61 6.3
42 (1% mg/2 8 UTF 0.48 0.33 0.15 0.32 0.57 0.04 0.18 0.31 0.01 0.59 0.43 0.02
B FAFFLUHE pg-TEQ/ 2 1 UF — 1.3 0.00017 — 1.1 0.00018 — 4.2 0.00017 — 2.7 0. 00027
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2 BHKMEBEZRE=S)TREER

(1) iZHIK
No | E H s |HELEkE =K
RAEEAR H21.1.7 H21.2.4 H21.3.4 H21.4.8 H21.5. 20 H21.6.3 H21.7.1 H21.8.5 H21.10.7 H21.11. 4 H21.12.2
ESES zY Bh Bh Bh EEh zY zY ZY EEh EY BEh
$REREFZI 13:28 13:21 13:30 13:23 13:58 13:16 13:25 13:50 13:50 13:25 14:00
SR °c 13.3 12.0 13.2 14.3 18.8 20.0 23.5 22.6 17.0 13.5 11.0
KR °c 8.4 8.3 7.8 9.4 12.8 13.4 22.0 16.2 15.5 11.5 10.5
HEREEIA mg/90 0.1 UF — — — - - - — — — — —
2|v7Y mg/Q 1 LT — - - - - — — — — — —
3 | mg/Q 1 LUTF — — — — — — — - - - -
4 |8 mg/Q 0.1 LIF — - - — — - — — — — —
5 |AfiY O L mg/0 0.5 UTF — — — — — — - - - — —
6 |Atk mg/Q 0.1 UTF — — — — — — - - - - -
7 |#7ksR mg/2 | 0.005 WF - - - - — — — — - - —
8 | 7ILFILKER mg/4 g — — — — — = = = = = =
9 |R 1L E 7 =)L (PCB) mg/¢ | 0.003 LT — — — — — — — — - - -
10|kysOOTFLY mg/Q 0.3 LIF - — — — <0.03 - - <0.03 <0.03 — <0.03
1M|Fr>v00TFLY mg/Q 0.1 LIF - — - — <0.01 - - <0.01 <0.01 - <0.01
12100458y mg/9 0.2 LIF - — — — <0.02 - - <0.02 <0.02 — <0.02
13 |miE bk =R mg/0 0.02 UF - — - — < 0.002 - - < 0.002 < 0.002 - < 0.002
14]1,2-v9 004y mg/9 0.04 LUF - — — — <.0.004 - - <.0.004 <.0.004 — < 0.004
15|11, 1-400xFLY mg/Q 0.2 LIF - - - — <0.02 - - <0.02 <0.02 - <0.02
16|vz-1,2-Csn0TFLY mg/9 0.4 LIF — - - - <0.04 - - <0.04 <0.04 - <0.04
17|11, 1,1-ky 0BT Ay mg/9 3 UTF - - - - <0.3 - - <0.3 <0.3 - <0.3
18]1,1,2-bypOATAY mg/Q 0.06 LIF - - - - < 0.006 - - < 0.006 < 0.006 — < 0.006
191,3-vsnn7axRy mg/Q 0.02 LIF - - - - < 0.002 - - < 0.002 < 0.002 - < 0.002
20|F 95 L mg/Q 0.06 LUF — — — — < 0.006 - - < 0.006 < 0.006 — < 0.006
NICESYS mg/0 0.03 UF — — - — < 0.003 — - < 0.003 < 0.003 - < 0.003
R|FARUALT mg/Q 0.2 LIF — — — — <0.02 - - <0.02 <0.02 — <0.02
B|RoEY mg/0 0.1 LIF — — - — <0.01 - - <0.01 <0.01 - <0.01
ALy mg/Q 0.1 LIF - - - — — — - - - — —
R ERES mg/Q 10 UF - - - - - - - - - - -
26(5-% mg/Q 8 LT — - - - — — — — — — —
FUEST. TURSOMEE Y mg/¢ - - - - - - - - - - -
27| EHERIE A mg/Q 100 AT — — - - - - - - - - -
MBI A mg/Q - - - - - - - - - - -
28| p H 6.0~8.0 7.8 8.0 7.7 7.9 8.0 7.9 7.0 8.0 8.0 8.0 7.8
29({BoD mg/Q 60 WUTF 69 63 73 19 19 27 24 9.5 22 24 37
30[{cobp mg/Q 90 WUTF 150 140 78 77 78 91 80 74 69 83 130
3|ss mg/0 10 UF 64 40 66 30 35 73 58 22 38 36 64
32|/NAF VI (SIkiE) mg/Q 5 LT — — — — — — — - - - -
33|/MUN A (BiEY mg/4 30 U - - - - - - - - - - -
M| 7/ —ILE mg/Q 5 UTF - - - - - - - - - - -
35|4R mg/9 3 UTF - - - - - — — — — — —
I ETD mg/2 5 LT - - - - - - - - - - -
37 AR mg/9 10 UF - - - - - — — — — — —
38w LAY mg/2 10 BT - - - - - - - - - - -
39|/ 8L mg/Q 2 UTF - - - - - — — — — — —
40 [ RBEER @/cn® | 3000 LIF - - - - - - - - - - -
eSS mg/Q 60 LIF 87 88 79 62 68 80 77 63 91 81 86
42 1% mg/Q 8 LT 1.6 1.4 0.86 0.37 0.48 0.99 0. 66 0.32 0.18 0.43 0.59
B FAAFTU5E pg-TEQ/Q 1 LUF — — — — — — — — — — —
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(2) 7K

No | ’ H By |StELEKE RK
AEEAA H21.1.7 H21.2.4 H21.3.4 H21.4.8 H21.5. 20 H21.6.3 H21.7.1 H21.8.5 H21.9.2 H21.10.7 H21.11.4 H21.12.2
B ZY Bh Bh Bh Bh zY &Y &Y Bh Bh &Y Bh
REREEZI 13:22 13:16 13:25 13:15 13:40 13:12 13:20 13:30 13:19 13:30 13:13 13:50
KB °c 11.2 11.2 13.8 18.9 18.4 19.6 21.0 23.6 25.0 19.0 17.5 14.5
KGR °c 2.5 4.5 3.0 9.7 19.2 20. 4 23.5 23.0 21.0 18.0 10.5 8.5
HEREEA mg/Q 0.1 LT - — - - <0.01 - - <0.01 - <0.01 — <0.01
2|27y mg/0 1 UF - - - . <0.1 . . <0.1 . <0.1 - <0.1
e meg/Q 1 UF - — — - <0.1 - - <0.1 - <0.1 — <0.1
4|8 meg/Q 0.1 UF - - . . <0.01 . . <0.01 . < 0.01 - < 0.01
5 [Affiy AL mg/Q 0.5 LT - — - - <0.05 - - <0.05 - <0.05 - <0.05
6 Atk meg/Q 0.1 UF - - - . <0.01 . . <0.01 . < 0.01 - < 0.01
7 [#keR mg/0 | 0.005 T - - - - < 0.0005 - - < 0.0005 - < 0.0005 — < 0.0005
8 | 7 LFILIKER mg/4 iR — — — — T — — T — T — TR
9 [RViEE 7 = (PCB) mg/0 | 0.003 LIF - - - - < 0.0005 - - < 0.0005 - < 0.0005 — < 0.0005
10[rysomzFLY mg/0 0.3 LT - - - . <0.03 . . <0.03 . <0.03 — <0.03
1n[FrssopzFLy mg/9 0.1 LT - — - - <0.01 - - <0.01 - <0.01 — <0.01
INEZEEEEP mg/0 0.2 UF - - - . <0.02 . . <0.02 . <0.02 — <0.02
13|migibir® mg/Q 0.02 LIF - — - - < 0.002 - - < 0.002 - < 0.002 — < 0.002
14[1,2-v5 sy mg/0 0.04 LIF - - . . < 0.004 . . < 0.004 . < 0.004 — < 0.004
151, 1-sopzFLY mg/9 0.2 LT - — - - <0.02 - - <0.02 - <0.02 — <0.02
16(>=-1,2-voapTFLY mg/Q 0.4 LT - — — — <0.04 — . < 0.04 . < 0.04 - < 0.04
1701.1,1-rYsRETS Y mg/9 3T - - - - <0.3 - - <0.3 - <0.3 — <0.3
18[1.1,2-rYpmaTHY mg/4 0.06 UF - - . . < 0.006 . . < 0.006 . < 0.006 - < 0.006
19[1,3-son7oxRy mg/9 0.02 UF - - - - < 0.002 - - < 0.002 — < 0.002 — < 0.002
20|F95 L4 mg/0 0.06 LIF - . - . < 0.006 . . < 0.006 . < 0.006 - < 0.006
HIPES mg/Q 0.03 LIF - — - - < 0.003 - - < 0.003 - < 0.003 — < 0.003
R|FARUALT mg/0 0.2 UF - - . . <0.02 . . <0.02 . <0.02 - <0.02
B[R mg/Q 0.1 LT - — - - <0.01 - - <0.01 - <0.01 — <0.01
26|ty mg/4 0.1 UF - - . . <0.01 . . <0.01 . < 0.01 - < 0.01
25|F5% meg/Q 10 LT - — — — 1.1 - - 1.1 - 1.2 — 1.7
26|53 o% meg/Q 8 WUF - - . . 0.6 . . 0.7 . 0.6 - 0.6
7UEST. TUESIME A mg/Q — - - - 15 - - 8.5 — 5.7 — 53
27 |EWEBItEeD mg/0 100 LUF - — — — 1.6 — — 1.1 — 1.3 - 0.2
WELEY meg/Q — — - - 11 - - 5.8 - 8.3 — 1.2
28[p H 6.0~8.0 8.1 8.0 8.1 8.0 8.0 8.0 7.8 7.8 8.2 8.2 8.0 8.2
29(BoOD mg/Q 60 LI T 25 31 19 17 17 29 9.8 6.9 12 29 15 24
30|coD mg/4 90 WTF 88 93 68 84 45 50 37 46 47 49 40 86
3|ss mg/Q 10 LUF 12 16 24 17 16 25 16 37 58 43 22 16
32|/ B (Sih) meg/Q 5 LT - . . . <0.5 - - <0.5 - <0.5 - <0.5
[N TE (BE mg/0 30 LT — — — — <0.5 — — <0.5 — <0.5 — <0.5
M|7z/—LE mg/9 5 LT - — — - <0.5 - - <0.5 - <0.5 — <0.5
35 [$A meg/Q 3 UF - . - - <0.02 - - <0.02 - <0.02 - <0.02
36 | @ meg/Q 5 LT - — — - 0.02 - - 0.02 - 0.03 — 0.03
37 [k meg/Q 10 LT - - - - 0.03 - - 0.03 - 0.11 - 0.27
3B[Emre A meg/Q 10 LT - — — — 1.2 - - 0.38 - 2.0 — 4.2
39|y AL mg/0 2 WUF - . - - <0.02 - - <0.02 - <0.02 - <0.02
40| KBERS @/cn® | 3000 LT - - — — 0 — - 480 - 440 — 570
MIEES meg/Q 60 LIF 54 66 49 58 30 28 9.0 19 18 28 28 61
42 mg/9 8 LT 0.68 0.69 0.64 0.28 0.33 0.42 0.35 0.57 0.46 0.31 0.27 0.43
BlEAAFT 8 pg-TEQ/2 1 BT — - - - 1.3 - - 1.1 - 4.2 — 2.7
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(3) IESEAL K

No| H B By |sHELEKE [R5 5@ AT K

AEEAAR H21.1.7 H21.2.4 H21.3.4 H21.4~12

K 2Y Bh BEh

REREFZI 13:18 13:11 13:15

iR °c 15.9 14.1 14.4

JKig °C 14.6 14.8 13.2

1|AFIHL mg/Q 0.1 I'F - - -

2\>7> mg/Q 1T UF - - -

3 | A mg/Q 1 LUTF - - -

4 (58 mg/Q 0.1 UTF - - -

5 ARy 0L mg/Q 0.5 UTF - - -

6 |Atk mg/Q 0.1 UTF — — -

7 |#8KER mg/Q 0.005 LLF - - -

8 | 7ILFILKER mg/4 g — — —

9 [R1E{LE 7 = =)L (PCB) mg/Q 0.003 LT - - -

10|kysBRIFLY mg/Q 0.3 UTF - - -

M"|Fr3o00TFLY mg/Q 0.1 IF - - -

(VAP A=1=B 2 2V mg/Q 0.2 UTF — — —

13[mig R % me/0 | 0.02 BT - - —

141,2->9 04> mg/Q 0.04 LI'F - - -

1511,1-> T FLy mg/Q 0.2 I'F - - -

16|>x-1,2-¥snpIFL> mg/Q 0.4 UTF — — -

1711,1,1-rYy o042 mg/Q 3 LT - — —

18|1,1,2-+) o n0xTs > mg/Q 0.06 LL'F - - - N

19(1,3-¥> no7oRy mg/Q 0.02 IF - - - 4

20[F55 4 me/s | 0.06 LT - - - ’7\‘

A[vwsy me/e | 0.03 LT - - - i

2(FARV AT mg/Q 0.2 UF - - - i

2RvEY mg/2 0.1 UF - - - ;F;

24|tL> mg/Q 0.1 UTF - - - 1=

%5|1E5% mg/2 10 LT — — — ’;’J

26|35 oF& mg/Q 8 UT - - - F
TURZ7. TASIMES D mg/0 - - - T

21 [Em@ian e/t | 100 uF[ - = = v
WEsiEAY mg/2 — — —

28|pH 6.0~8.0 7.1 6.6 7.0

29|BOD mg/Q 60 L] <0.5 <0.5 <0.5

30|coD mg/Q 90 UTF 28 29 27

31|ss mg/Q 10 AT <1 <1 <1

32|/NAH VI (B3 mg/Q 5 LT — — —

33 {il«?}l«’@*f‘/?ﬂ]ﬂi%g (BHiEW mg/Q 30 LIF — - -

|7/ —ILEE mg/Q 5 LT - - —

35|R mg/Q 3 LT - - -

36 [HE sa mg/9 5 T - - —

37 AR mg/9 10 T - - —

3B |AEHET A mg/Q 10 LI F — — —

39V oL mg/Q 2 LT - — -

40| KRIBE B @/cm’® | 3000 WUF - - -

41 (2% mg/Q 60 LT 4.6 1.5 5.3

42 |1 mg/Q 8 LT 0.17 0.24 0.27

B|FAAFLUE pg-TEQ/Q 1 LUF — — —
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(4) MRk

No | B B B |HELEKE HURK
AEEAR H21.1.7 H21.2.4 H21.3.4 H21.4.8 H21.5. 20 H21.6.3 H21.7.1 H21.8.5 H21.9.2 H21.10.7 H21.11. 4 H21.12.2
B3 2Y Eh Eh Eh Eh 2Y 2Y 2Y HEh Eh 2Y HEh
REREFZI 13:13 13:05 13:10 13:07 13:10 13:05 13:10 13:05 13:06 13:08 13:07 13:08
SR °c 14.2 1.1 13.9 17.8 22.4 25.2 27.0 24.0 26.0 21.5 18.0 16.5
KR °c 16.8 16.6 15.0 16.6 19.8 21.6 25.5 25.0 25.5 21.5 18.0 16.5
HEEEEIA mg/0 0.1 UF - - — - <0.01 — — <0.01 - <0.01 - <0.01
2(>7y mg/Q 1T YT - — — — <0.1 — - <0.1 - <0.1 - <0.1
3 | mg/0 1T UF - - - — <0.1 - — <0.1 - <0.1 - <0.1
4 |4n mg/0 0.1 UF - — — — < 0.01 — — <0.01 - <0.01 - <0.01
5 |y AL mg/0 0.5 UF - - — — <0.05 - — <0.05 - <0.05 - <0.05
TS mg/0 0.1 UF - — — — < 0.01 — — <0.01 - <0.01 - <0.01
7 |#K4R mg/0 | 0.005 LT - — — — < 0.0005 - — < 0.0005 - < 0.0005 - < 0.0005
8 | 7L ILIKER mg/0 T - - - - TRt — . TR . Tz - TR
9 [KvtEiE 7 =L (PCB) mg/0 | 0.003 T - — — — < 0.0005 - — < 0.0005 - < 0.0005 - < 0.0005
0[rysooTFLY mg/4 0.3 UF - — — — <0.03 — — <0.03 - <0.03 - <0.03
NET LR mg/Q 0.1 UF - - — — <0.01 - — <0.01 - <0.01 - <0.01
12Oy mg/Q 0.2 UF - — — — <0.02 — — <0.02 - <0.02 - <0.02
13|mis & mg/0 0.02 UF - - — — < 0.002 - — < 0.002 - < 0.002 - < 0.002
14)1.2-vyoaxsy mg/Q 0.04 UF - — — — < 0.004 — - < 0.004 - < 0.004 - < 0.004
151, 1-SsnpzFLy mg/Q 0.2 UF - - — — <0.02 - — <0.02 - <0.02 - <0.02
16[oz-1,2-vvnpTFLY mg/0 0.4 LT - - - - < 0.04 - - < 0.04 - < 0.04 - < 0.04
1701,1,1-ry 0T8> mg/Q 3 UT — — — — <0.3 - - <0.3 - <0.3 - <0.3
18[1,1,2-rys0aTAY mg/0 0.06 LT — — — - < 0.006 - - < 0.006 - < 0.006 - < 0.006
19[1,3-2s ooy mg/Q 0.02 LT — - - - < 0.002 - - < 0.002 - < 0.002 - < 0.002
20(FY35 4 mg/Q 0.06 UF - — — - < 0.006 — - < 0.006 - < 0.006 - < 0.006
RIS mg/0 0.03 UF - - — — < 0.003 - — < 0.003 - < 0.003 - < 0.003
2[FARLALD mg/Q 0.2 UF - — — - <0.02 — — <0.02 - <0.02 - <0.02
B|RvEy mg/0 0.1 UF - - — — <0.01 - — <0.01 - <0.01 - <0.01
24wl mg/0 0.1 LT — — - - <0.01 - - <0.01 - <0.01 - <0.01
25|1F5% mg/0 10 LT - - - - 1.0 - — 1.0 - 1.2 - 1.1
26[5o% mg/0 8 LT - — — - 0.5 — — 0.7 - 0.5 - 0.5
7UEZ7. TUESOLE A mg/9 — — — — <0.1 - — 0.1 - <0.1 - <0.1
27 | BB S Y me/0 100 AT - - - - <0.1 - - <0.1 - <0.1 - <0.1
WEIEEY mg/0 - - — — 0.6 - — 0.8 - 1.6 - 4.6
28|p H 6.0~8.0 6.4 6.3 6.8 6.6 6.7 7.0 7.2 7.0 6.5 7.1 6.7 6.7
29|BoD mg/0 60 LT| <o0.5 <0.5 <0.5 <0.5 <0.5 1.2 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
30|coD mg/0 90 WU 7.1 9.6 2.0 21 16 17 14 12 12 15 14 25
3fss mg/0 10 uF| <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
32|/ WA B (BhiH) mg/0 5 LT - - - - <0.5 - - <0.5 - <0.5 - <0.5
B[/ NFHETE (BER mg/9 30 LT — — — — <0.5 — — <0.5 — <0.5 — <0.5
|7z —nE mg/Q 5 YUF - - - — <0.5 — — <0.5 - <0.5 - <0.5
35|4R mg/0 3 LT - - - - 0.06 - — 0.07 - 0.04 - 0.05
36 | E 48 mg/0 5 LT - - - — 0.01 — — 0.01 - 0.02 - 0.02
37 BRI Sk mg/0 10 LT - — - — 0.02 — — <0.02 - 0.02 - 0.04
38| A mg/0 10 LT - - - — 0.1 — — 0.27 - 0.14 - 0.11
39y aL mg/Q 2 LT - — - — <0.02 — — <0.02 - <0.02 - <0.02
40| KiGE S @/em® | 3000 UF - — - — 0 — - 0 - 0 - 0
BIEES mg/0 60 UF 3.8 6.5 3.9 3.1 1.9 1.9 2.6 2.2 1.9 3.9 4.3 6.3
42|18 mg/0 8 WUF 0.13 0.20 0.28 0.24 0.15 0.11 0.06 0.04 0.04 0.01 0.01 0.02
B|EAFFL U8 pg-TEQ/0 1 YT — — — — 0.00017 — — 0.00018 — 0.00017 - 0.00027
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